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SEFEEETE T P EEE
380,000, 000& 380,000
sNHEMHEESXNAANG (BX) 1,180,000 865,000 315,000
< 236,000
Al 944,000
301 et d = 1,180,000 865,000 315,000
< 236,000
Al 944,000
12JEEd= 1,180,000 865,000 315,000
O=sH2MAHEE sSIHAJA ALY
4,720,000,000% «25/100 1,180,000
< 236,000
Al 944,000
SEMENE AREHSREASE(EX) 25,920 25,920 0
= 14,400
S 3,456
Al 8,064
301 et d = 25,920 25,920 0
= 14,400
< 3,456
Al 8,064
12JEEd=s 25,920 25,920 0
O=MsZXNE0S AREHEX ALY
14,400,000% 22 x90/100 25,920
= 14,400
< 3,456
Al 8,064
SHEASKHFLZSHMY(EX) 240,000 384,000 A 144,000
< 72,000
Al 168,000
402 RI2FX=01 M 240,000 384,000 A 144,000
< 72,000
Al 168,000
01 RIZEAI=2E X 240,000 384,000 A 144,000
OsHELASENRALZSH
300,000,000% =14 «80/100 240,000
< 72,000
Al 168,000
SEMASH(BAAH)N(EX) 640,000 0 640,000
& 300,000
= 54,000
Al 286,000
307 gl2tol & 450,000 0 450,000
= 225,000
< 40,500
Al 184,500
02 flZtAAE X 450,000 0 450,000
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AL (SHAH)AY
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341,000 0 341,000

102,000
239,000

= M

307 21201 & 341,000 0 341,000

102,000
239,000

= M

= 341,000 0 341,000
BEE A= OIXAEH A 341,000,000 341,000

102,000
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= M
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703,296
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SN B E K& ALY 126,225 110,250 15,975

&= 126,225 110,250 15,975

126,225 110,250 15,975

76,5009 11,000 x15/100 126,225

sHOXEER BE2XNd(BX) 66,720 62,712 4,008
20,016
Al 46,704

H

201 fEt2E | 66,720 62,712 4,008

20,016
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-SZUFEXN 22X 7,000 #7808 123 65,520

20,016
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= M
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Rl SN
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4,320
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Z R

12 IIEtE 4=
OsIt=201 X2 AE(01L)
2,400,000 «15% «80/100 28,800
4,320
2,160
22,320

28,800 24,960 3,840

Z B

SHEXNAAMES SRLRAE(EX) 16,000 16,000 0
[ 4,800

Al 11,200

H0

307 glztol & 16,000 16,000 0

4,800
Al 11,200

H

02 pl2tHFAEXR 16,000 16,000 0
& 2 X
,000& =1JH A +80/100 16,000

4,800
11,200

s

= M

SHEESUAM SEEI2RSLIA(EX) 1,465,200 1,364,699 100,501
703,296
228,571
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= MW
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703,296
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Al 533,333
01 Al EE E 563 1,465,200 1,364,699 100,501
OS0Z 2SDAM SE22420 8
1,465,200, 0002 1,465,200
= 703,296
< 228,571
Al 533,333
sgoEsy 218,960 227,460 A 8,500
= 19,200
Al 199,760
=g SLX 154,760 166,220 A 11,460
301 L2 A S 63,560 75,620 A 12,060
10 #ALAHIZE &3 63,560 75,620 A 12,060
OgELH=ELE W0
60,0003 x4 H *x2 U *23] 960
OFY=AHsY W=0H
60,0003 10 2L *23] 2,400
O=0tlsl Ziisl &F4AX ol
60,0003 «35H x2 4,200
OsgZgel F=0s FAX ol
60,0003 «80H x2 9,600
O&=sgel dI30Us FAX ol
60,0003 «80H x2 9,600
OF & YT SASDE HBHA &0l (3
=9, 80is) 20,000,000& =13l 20,000
Osg3dgo disd s ol
60,000 *100H x2 12,000
O&=sgel s #XAS ol
60,0003 «40H x2 4,800
307 glz2tol & 91,200 88,000 3,200
02 RIZHE A E X 30,000 50,000 220,000
Ofssgol seles
2,000, 000& 30 *50/100 30,000
04 QIZFHALE X 61,200 38,000 23,200
Os=0d=ge HEg
8,000,000& «90%<& 2> 7,200
O=g&dgel AHAEs 10,000,000 *90%< & 2> 9,000
OEEA L2502 MAl - B2 MDA (S
o) 20,000,000 *90%<& 2> 18,000
Osgzage & d=sgel 8ots el
30,000,000 *90%<& 2> 27,000
Pr=go syl udx(2X) 4,200 4,200 0
< 1,200
Al 3,000
307 21201 A 4,200 4,200 0
< 1,200
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B SAMHAN (SYNLLL /Y - SE)
el selolgy CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 3,000
02 QI2tAAME X 4,200 4,200 0
O2+==g92 HA=sgH wWAHS
3,000,000 22 70/ 100 4,200
= 1,200
Al 3,000
HAsH=2INHA(BEX) 12,000 4,000 8,000
& 3,600
Al 8,400
402 SI2F 20| & 12,000 4,000 8,000
& 3,600
Al 8,400
01 Q228 X 12,000 4,000 8,000
OA=sE=XA 5,000,000 *3H «80/100 12,000
& 3,600
Al 8,400
AS0|2L sSIHASZEAIY(EX) 16,000 16,000 0
o 4,800
Al 11,200
402 SI2vXHE0| & 16,000 16,000 0
= 4,800
Al 11,200
01 812t X 16,000 16,000 0
OZEQSX sSIHAESTAY
10,000,000 22 «80/100 16,000
= 4,800
Al 11,200
SENSZBESSANI(EX) 32,000 32,000 0]
& 9,600
Al 22,400
402 SI2vXHE0| ™ 32,000 32,000 0
o=} 9,600
Al 22,400
01 812t X 32,000 32,000 0
OsZ0ssss4a N
20,000,000 *2J1 2~ x80/ 100 32,000
o= 9,600
Al 22,400
Etdsgsyd 7,187,000 8,250,254 AN 1,063,254
= 456,976
2 1,865,000
J| 39,134
= 1,293,344
Al 3,532,546
HEtAd=sdHAHAXTHS 236,364 205,215 31,149
201 et 12,584 24,655 A 12,071
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SUAWHYG(SHHLL/5Y - 55)
S

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 At 22l 3,840 3,851 A1
O1.€8t=&H| 3,840
-dEZd=sy FEXNES 96,000& 40X 3,840
< 1,152
Al 2,688
HeStAsHAEXNEM(EE) 250,000 236,956 13,044
= 250,000
301 L2 L= 250,000 236,956 13,044
= 250,000
12243 250,000 236,956 13,044
O =sH =X =3(398ha) 250,000,000% 250,000
= 250,000
HEBs S UASFAH XN (EX) 31,500 23,100 8,400
< 9,450
Al 22,050
301 L2 A F 31,500 23,100 8,400
< 9,450
Al 22,050
12 JIEtE 43 31,500 23,100 8,400
OHBA=ME AZZXY X
500,000& *3024 ¥70/100 31,500
< 9,450
Al 22,050
e B=sYI By 1,856,000 1,910,514 A54,514
402 2I2HXHE01 M 1,856,000 1,869,250 A 13,250
01 22t 22X 1,856,000 1,869,250 A 13,250
OREYSHSHE RIZHI2 X
8,500& * 110X x1,500ha*70/ 100 981,750
OHUBTSHSHY SYHSH X
15,000& *70 & *350ha*70/100 257,250
ORBF=MSMA TXAKE PR X2
55,000 *50& *50ha*70/100 96,250
OXSBASMSMY HELEI| XD
150, 000& *150CH *70/100 15,750
Osdll 2z S5t =4
1,000, 000& *107ha*70/100 74,900
OFeZels M 252 N
70,0002 *900 A %70/100 44,100
Oz=0l12 HEANSX E3SX =4
3,000, 000& *20ha*60/100 36,000
O ANSX SoHolL(L=s)AM X
100, 000& *500& 70/ 100 35,000
O HATHBHAL AIES U3 XA
10,000, 0002 *14CH *50/ 100 70,000
OunFAxXI| X&A 2,900, 000& *60CH*50/100 87,000




M sellsdH
B SAMHAN (SYNLLL /Y - SE)
Sel: HBFSASY (B9 ®R)
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
Ouag #asteA X&
20,000& *9,000m" x50/100 90,000
Oo"HA Hx(s=2) XA
500& *200,000E 50/ 100 50,000
OME S+2THih X &
2,000,000 *15ha*60/ 100 18,000
AHINE=E=MHEX (EX) 36,000 30,000 6,000
= 10,800
Al 25,200
307 glztol & 36,000 30,000 6,000
= 10,800
Al 25,200
02 el2FAEX 36,000 30,000 6,000
OAHIXN=HE =M4HE XN 30,0008 +1,2004 36,000
£ 10,800
Al 25,200
SHIAESHUNR(EX) 124,890 0 124,890
2 49,956
= 22,480
Al 52,454
402 QI2tXt=01 ™ 124,890 0 124,890
2 49,956
S 22,480
Al 52,454
01 2t t=E X 124,890 0 124,890
O=HI&= SNHU X& 124,890,000& » 14! 124,890
= 49,956
S 22,480
Al 52,454
MRS R e (2F) 10,260 7,560 2,700
< 2,394
Al 7,866
202 O 4 7,600 5,040 2,560
< 1,596
Al 6,004
04 = Ml =t0d 8l 7,600 5,040 2,560
ORSPsY LYT2H HAMWK 14
3,800,000 «2&H 7,600
S 1,596
Al 6,004
307 212+0| 2,660 2,520 140
= 798
Al 1,862
02 2P EEX 2,660 2,520 140
OFSASYO HAMTK o4
3,800,000 12 +70/100 2,660
= 798
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0x
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2,797,000 4,000,000 1,203,000

1,865,000
932,000

H oo

402 212t A= 01 & 2,797,000 4,000,000 1,203,000

1,865,000
932,000

ooy

01 l2tlt=2e X 2,797,000 4,000,000 1,203,000

2,797,000,000& =14 2,797,000

1,865,000
932,000

ooy

ASERESLTNR(EXR) 792,000 867,125 AT5,125
168,400
633,600

= M

402 2I2tXt=01& 792,000 867,125 AT5,125

168,400
Al 633,600

in

01 gzt

-
M

ES 792,000 867,125 AT5,125
S 1,584,000, 000& *50/100 792,000

158,400
633,600

O
k-
Jn
2o
Jo H

= N

ANEHAHUXIOISEEa X (EZAE)(EX) 355,425 35,000 320,425
142,170
63,977
149,278

= MW

o
N

r
r

402 =0l d 355,425 35,000 320,425
142,170
63,977

149,278

= W

01 IZtXt=28 = 355,425 35,000 320,425
OAEZ&0 HUXNZZAIE XA
710,849,000& %50/ 100 355,425

142,170
63,977
149,278

i

= N W

Ao seESa N (SHER)(EX) 29,700 102,000 AT2,300
14,850
4,455
10,395

= H W

402 212t X201 & 29,700 102,000 AT2,300
14,850
4,455
10,395

= MW

01 IZtXt=28 = 29,700 102,000 AT2,300
=2

HES &I X

49,500,000& *60/100 29,700
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114
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 14,850
< 4,455
Al 10,395
MEHERII =Y s SHMG(EX) 16,000 32,000 A 16,000
< 4,800
Al 11,200
402 RI2EX=20l A 16,000 32,000 A 16,000
< 4,800
Al 11,200
01 RIZERI2E X 16,000 32,000 A 16,000
OHMENE RIIsg st =4
20,000,000& *1= Jt+80/100 16,000
< 4,800
Al 11,200
QIS AMADBIES TR (EX) 102,500 123,500 A21,000
< 20,500
Al 82,000
402 RI2FX=201 M 102,500 123,500 A 21,000
< 20,500
Al 82,000
01 RIZEAI2E X 102,500 123,500 A 21,000
ORUETHA Mgt =K
205,000,000% *50/100 102,500
< 20,500
Al 82,000
SEESMIAUZEHISGRNE(BEX) 35,574 146,300 A 110,726
< 10,672
Al 24,902
402 RI2EX=01 M 35,574 146,300 A 110,726
< 10,672
Al 24,902
01 RIZEAI=2E X 35,574 146,300 A 110,726
OrEtd=sg 22X ElHMAGXIEA
110,000& *462m «70/100 35,574
= 10,672
Al 24,902
SE2SMAIHTSH(BX) 35,000 35,000 0
< 10,600
Al 24,400
402 2I2H X201 M 35,000 35,000 0
< 10,600
Al 24,400
01 RIZEAI=2E X 35,000 35,000 0
ORE2SMYIEt=L XA
50,000, 000& *1JH 2 *70/100 35,000
= 10,600
Al 24,400
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ooy
OF 02 M
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0x fon

OF
o
%
02
4>
x

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
LEHASESAMAS (EX) 166,200 166,225 A 25
= 13,440
Al 152,760
402 RI2EX=20| M 166,200 166,225 A 25
< 13,440
Al 152,760
01 RIZERt2E X 166,200 166,225 A 25
OXsE AHISAW 23
332,400,000% *50/100 166,200
< 13,440
Al 152,760
DF HIJHE MUIAIE X2 (2EX) 97,835 0 97,835
| 39,134
< 17,610
Al 41,091
402 RI2FX=20l M 97,835 0 97,835
| 39,134
< 17,610
Al 41,091
01 22t 22X 97,835 0 97,835
ODZEHITIE THAIL X &
195,670,0002 *50/100 97,835
| 39,134
< 17,610
Al 41,091
LEAMY SHNNA(EX) 37,320 0 37,320
= 7,464
Al 29,856
402 RI2EX=01 M 37,320 0 37,320
< 7,464
Al 29,856
01 2I2tXE2E X 37,320 0 37,320
Ooxzttgssd XA 62,200, 000& *60/100 37,320
< 7,464
Al 29,856
SR 2ESXNA(EX) 10,500 0 10,500
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Al 7,350
402 RIZ2EX20l ™ 10,500 0 10,500
< 3,150
Al 7,350
01 RIZEAt 22X 10,500 0 10,500
Ost20H=s X3 60,000& *350= %50/ 100 10,500
< 3,150
Al 7,350
a=sdadsgilxl 163,092 325,908 A 162,816
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B SAMHAN (SYNLLL /Y - SE)
Sel: HBFSASY (B9 ®R)
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
201 fEt2E | 8,712 10,208 A 1,496
01 AtR 2t 2l Hl 8,712 10,208 A 1,496
Of. ergHl 7,000
~MSEZRAMEIFA £8H 2,000,000 2,000
~HSLE2UE PASHS U NASR M
At 0! 1,000& *2,000% 2,000
-HEE SEE2ES 2 NFAME F2e
3,000,000& 3,000
O3.2g9=+¢ 1,040
-HEIsg s us 1,040
ZA=E 200,000& »43] 800
© ARG HI 60,0003 *42 240
O5.2 2l 672
~ASLSZRAE YRR FLILX B4
7,0003 x 18«82+ 123 672
202 O 4l 1,080 1,200 A120
01 ZLHO I 1,080 1,200 2120
OY=sZRANE 54 2T A
60,000 «1H 3 »63] 1,080
402 212t Xt=01 ™ 153,300 306,600 A 153,300
01 2 t=E X 153,300 306,600 A 153,300
Od=saazdiz szl dedsiM A&
750,000 *242ha*70/100 127,050
Oz&Zd s "gel"' IsEdE ZEN A
o 1,500& »25,00001 70/ 100 26,250
AgdEdsdXE 12,998,074 11,600, 198 1,397,876
= 8,002,954
Il 450,051
T 813,388
Al 3,731,681
SAt2te| K& 103,760 56,940 46,820
201 Yet2 | 8,520 10,620 £2,100
01 At 22l bl 8,520 10,620 A2,100
O1.eet=ZH] 6,000
-AENEERFEN S 6,000,000 6,000
Ob.=2&Hl 2,520
-AFEEUHERFL OFA2ZRA =S4
7,000 3«10 122 2,520
202 o4 4l 3,240 4,320 A 1,080
01 2404l 3,240 4,320 A1,080
OAMSEUPRF=LAHHl 60,0008 *3H *3L »63] 3,240
206 24 2,000 2,000 0
01 M= Hl 2,000 2,000 0




AN sg€II=4dH
B SAMHAN (SYNLLL /Y - SE)
ool AZAYS LRI CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Oszdes) 2529 (X, 38, 32 5)
2,000,000 2,000
301 et a = 39,600 40,000 A 400
10 HALAHI 242 39,600 40,000 A 400
OsZLeE) 282 N 228 24
2,000& +7,500H »23| 30,000
ObsAt2d us & 2S0Ha 40
60,0003 «80H x2 9,600
402 RI2HX=201 M 50,400 0 50,400
01 RIZEAI2E X 50,400 0 50,400
OH oS4 MN2NELD XX
6,000, 000& x5 £ *60/100 18,000
OUE H s23& XIAHX X
25,000, 000& *1JH 2 60/ 100 15,000
OzxLet D30 ML AY
29,000,000% =141 «60/100 17,400
NEEaFAEALE 1,242,150 1,306, 100 A 63,950
402 2I2H X201 M 1,242,150 1,206,100 36,050
01 BIZEAt=2 82 X 1,242,150 1,206,100 36,050
ODET & M4 2TYE 23
3,100 395,000 x70/100 857,150
OHst: &X 2=2X&
1,100 300K *1,500ha*60/ 100 297,000
ONZE & MadX X
1,000, 000& »100ha*70/100 70,000
O=821=2 XI& 10,000,000& *3JH £ *60/100 18,000
ZELESIHSS(ER) 360,000 280,000 80,000
< 72,000
Al 288,000
402 RI2EX 20| A 360,000 280,000 80,000
< 72,000
Al 288,000
01 RIZEAt2E X 360,000 280,000 80,000
Os28sIIH3=S 2,000,000 *360CH*50/100 360,000
< 72,000
Al 288,000
HERS LI (L2E)(BEX) 226,800 302,400 275,600
= 64,800
Al 162,000
402 RIZ2HXt20l ™ 226,800 302,400 275,600
< 64,800
Al 162,000
01 RIZERI 22X 226,800 302,400 AT75,600
O28=sE23F4X XA
36,000, 0002 *9IH 2 *70/100 226,800




2N
X ZH -
L= B

el

EEBIERE
SUAWHYG(SHHLL/5Y - 55)
MY S X

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 64,800
Al 162,000
DEIY RLTEHSE(2X) 140,000 140,000 0
= 28,000
Al 112,000
402 RI2EX=20l A 140,000 140,000 0
= 28,000
Al 112,000
01 22t 22X 140,000 140,000 0
OLNEFEY 2x+33HEH
200,000, 000& *1JH 2 +70/100 140,000
= 28,000
Al 112,000
BASEEAFZTIZ(EX) 50,051 44,051 6,000
| 50,051
201 £B-2E| 27,251 25,811 1,440
| 27,251
01 At 2t 2|l 27,251 25,811 1,440
O1.det=2Hl 3,651
MASBENZNSH LSSl
3,651,000 3,651
J| 3,651
O3.28=+¢ 18,000
~AZEHEMMARY Y 100,000& »180H 18,000
| 18,000
Ob5.= &l 5,600
“HASSHAZRANEZE ORA2ZFR S4A
7,000& x20H x40 5,600
| 5,600
202 04 H 20,000 16,000 4,000
J| 20,000
01 = LHA YI 20,000 16,000 4,000
OMLASBAHATNEMAY =X ol (2F,7
3 SHS) 20,0003 x20H «50 20,000
| 20,000
301 L2 A3 2,800 2,240 560
J| 2,800
10 dAAHIEAZ 2,800 2,240 560
ONARHAAAS AT 24
7,000 «5H +53| 1604 & 2,800
| 2,800
BASEEEAZM DFAES(EX) 5,680,567 5,103,183 577,384
= 5,680,567
301 LerE A3 5,680,567 5,103, 183 577,384
= 5,680,567




2H: 59
M ZH: =A
L= B =

=2

cHelr Al

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

2a=3 5,680,567 5,103,183 577,384
ORASEMAFZIEM(RDEXNEZ)

,680,567,000& 5,680,567

5,680,567

H

THEANINFANE(EX) 244,021 236,324 7,697
195,217
14,641
34,163

= M W

301 gEtE A= 244,021 228,624 15,397
195,217
14,641
34,163

= M W

12IIEtE2 4= 244,021 228,624 15,397
OXHEH=ZMAE 244,021,000 244,021

195,217
14,641
34,163

= N W

SIZHSXMNG (EX) 2,896,000 2,400,000 496,000
1,810,000
362,000
724,000

= N W

402 212t X201 & 2,896,000 2,400,000 496,000
1,810,000
362,000
724,000

=z N H

01 BIZEAt= 82 X 2,896,000 2,400,000 496,000
JIZHIZ2 X &AL 2,896,000,000& =14 2,896,000

1,810,000
362,000
724,000

= MW

L= DEBHMAALEUHIME (EX) 1,000,000 685,000 315,000
400,000
180,000
Al 420,000

o~

402 2I2tXt=01& 1,000,000 685,000 315,000
Jl 400,000
180,000
Al 420,000

n

01 Iztt=e X 1,000,000 685,000 315,000
OFTALSZMMA LS U ALY
2,000,000,000& 14! x50/ 100 1,000,000

Il 400,000

180,000
420,000

= M

Dt MESHEHIXE(2X) 162,500 167,700 25,200
32,500
Al 130,000

n




AN sg€II=4dH
B SAMHAN (SYNLLL /Y - SE)
ool AZAYS LRI CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
402 RI2EX20l A 162,500 167,700 A5,200
< 32,500
Al 130,000
01 RIZEAt2E X 162,500 167,700 A5,200
O&8U =D, =R ZED|
10,000, 0002 *13CH *50/ 100 65,000
< 13,000
Al 52,000
Od=dE ZHII(SSII)
10,000, 0002 *17CH+50/ 100 85,000
< 17,000
Al 68,000
OFdd s 5,000, 000& *5CH x50/ 100 12,500
< 2,500
Al 10,000
=33 Z 0K 315,320 367,900 A 52,580
201 et 28,320 31,600 A 3,280
01 At 2teltl 2,000 3,000 A 1,000
O1.det=2H| 2,000
-USEHERFE =S 2,000,000& 2,000
02 2324l 2,000 2,000 0
O1.332LHA 2,000
“APDFSAET] AIE 28238 2HEIHRE
2,000,000 2,000
03 A2 Z Hl 24,320 26,600 A2,280
OZ=s==2dA 24,320
—SEFSY 2=
400,000 = 1CH «23] x00%<E 2> 720
SAAE DY Y HAE PY
20,000 *2004f Kt +90%<&E 2> 3,600
-NZE2ES 20,000,000& * 14 A& 20,000
402 2I2H X201 M 287,000 331,500 A 44,500
01 BIZEAr=2 82 X 287,000 331,500 A 44,500
O+ HM217Y X&
30& *3,000,0000H*50/100 45,000
ODY EHMEN UAZE X8
130, 000& *2,5005 *50/ 100 162,500
OunEs s8=2EH| X
5,000, 000& *5CH *50/ 100 12,500
OuEE 2 U=I FLXNE
3,800, 000& = 10CH*50/100 19,000
OMAFIMEM X
14,000,000 *4JH 2 *50/100 28,000
O+&3FxSE 227 X
800& x50, 00021 50/ 100 20,000




2N
X ZH -
L= B

el

1z O o
o 12 1°
r oy M

EME
YAASHSYHL 2L/ - 5E)
SEPERE

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

SHEMAA B MAN DX A (2

kA

)

= M

60,000

18,000
42,000

40,

000

402

gt =01d

= M

60,000

18,000
42,000

40,

000

20,000

[
r

o
u
pa
!

@)
fol
ﬁ
0z
>z
=
iz
o0
0z

,000& 12 2 +50/100

= M

60,000

60,000

18,000
42,000

40,

000

20,000

Jo
Ja

OF
=
ogr
2
o
>
0z
kJ
W
>
[
P

= M

100,000

20,000
80,000

,000

260,000

H

Al

100,000
20,000
80,000

,000

260,000

=
ottsdsitg d2Md&El &1
20,000, 000& 109K 2~ *50/ 100

= H

100,000

100,000
20,000
80,000

,000

60,000

0
10
=
=
bl
o

T
Pl

t

Al

83,355

16,671
66,684

80,

600

2,755

H

Al

83,355

16,671
66,684

80,

600

2,755

IO MK &
1,000,000 *40ha*50/ 100

ONAEIIMEH 126,710,000& 14! x50/ 100

= M

Al

83,355

20,000

4,000
16,000
63.355

12,671
50,684

80,

600

2,755

nt

H

317,170
317,170

317,170

H

317,170
317,170

317,170

317,170,000&

H

317,170
317,170
317,170

317,170

BB &S X AAE (B X)

H

Al

156,000

4,500
10,500

15,000




AN sg€II=4dH
B SAMHAN (SYNLLL /Y - SE)
Sl AZNAFLN S (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
402 DI2HX 20| & 15,000 0 15,000
< 4,500
Al 10,500
01 RIZEAt2E X 15,000 0 15,000
Oo=sd=x) XN& 15,000,000 *2CH *50/ 100 15,000
< 4,500
Al 10,500
SAMUEGH KN (EX) 1,380 0 1,380
< 276
Al 1,104
402 RIZ2EXt20l ™ 1,380 0 1,380
< 276
Al 1,104
01 QIZERI 22X 1,380 0 1,380
Oz At HstH XI&
276,000 x 1074 2 ¥50/ 100 1,380
< 276
Al 1,104
s IIBtAIE Z &t 6,673,878 6,813,639 A 139,761
= 2,275,000
J| 2,109
< 657,500
Al 3,739,269
SYIIBtAIE RS 2,292,769 1,093,127 1,199,642
201 Let2d] 9,960 11,160 A 1,200
01 At 22l 9,960 11,160 A 1,200
O1.4et=ZHl 3,000
-—sXZelgRFA det=ZH 2,000,000 2,000
-ENRHRHS 22 DXA R0
500& *2,000% 1,000
Ob5.=&Hl 3,360
—SXZePRFE A2 RA S4
7,0003 «4H«102 122 3,360
06. Y%t 2 3,600
-3 AR S22 FH YRE
450,000 »2CH x4 3,600
202 O4dl 2,160 4,800 A 2,640
01 = LH o4 Hi 2,160 4,800 A 2,640
OsXizelgd: =&
60,0003 x2H +x3 63 2,160
401 A& HIZ 201 I 940,649 576,167 364,482
01 A& HI 930,000 573,617 356,383
OsgIletxd At 50,000, 000& * 1Al 50,000
OJIAY JteHX 7 JIASZEEZ SEE I AL
=2.4km) 200,000,000& 14 200,000

_19_




A sgI=HH
B SAMHAN (SYNLLL /Y - SE)
CHelt S elDlErAl A 2Bt CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OdeYds NEXR JHZEEZ SHLIAZAHL=
0.23km) 70,000,000 14! 70,000
OFIIE & BRT I HISRE HTHT
Ab(L=0.6km) 70,000,000 = 1A! 70,000
OFREBEELZ AP JAHSIAEZ A2 A
L=0.4km) 60,000,000 14! 60,000
OJISdH =X JHaEEZ2 S AHL=
0.5km) 60,000,000 = 1A! 60,000
OJIAHH QHIXP JlHE &2 S AHL=
2.6km) 200,000,000 x14! 200,000
OJIAHH 2AHel 242 EXZ2AH1.0x1.0,
=300m) 120,000,000 = 14! 120,000
OJIAHH DXXP JNHZEEZ SHLIAZAHL=
1.0km) 100,000,000 = 14! 100,000
03 AlE 21| 10,649 2,550 8,099
OJHH IJIeHX 7 JNHSFEEHZ SEEH S AL
6 A A2
880,000,000 x0.63/100%70%<& 2> 3,881
OZAHNssE=r= 752,000 *9Q0H A~ 6,768
403 XX SHHS K20 & 1,340,000 500,000 840,000
02 Z2J|2tS 0l CH SHCH & A HI 1,340,000 500,000 840,000
O=zxclA8E A&l 240,000,000 14! 240,000
Osdllgs Ydel 242 EXZ2AH0.6x0.6,L=
500m) 50,000,000 14! 50,000
OalZH otMHE| 242 & XIZ2AH0.6x0.6,L=
650m) 60,000,000 * 14! 60,000
OAGIH Zatel 242 EXZ2A(1.2x1.2,L=
250m) 70,000,000 = 14! 70,000
OJIHHE Qldlel 42 & XIZ2AH0.6x0.6,L=
350m) 30,000,000 14! 30,000
OMEE MUel =2 EXZ2AH(1.0x1.0,L=
200m) 50,000,000 14! 50,000
OFGIH ZoHX P JIHSFAEZ SEZTH2AHL
=0.3km) 40,000,000 14! 40,000
Ox&H Ot B3 X 2 JHSEEZE ST H
2 AH(L=1.7km) 150,000,000 * 14! 150,000
OEdls 48X JIHSZFEZ SFHLIZ2AHL=
1.1km) 150,000,000 = 1A! 150,000
OFGIH HE2X P JHSFAXZ ST H2AHL
=0.4km) 50,000,000 * 14! 50,000
Osdlg g0, dEXNP JHSEEZE ST H
2 AH(L=1.2km) 150,000,000 = 1A! 150,000
Q&S 22X JIHSFEZ SFHLIDAHL=
1.5km) 150,000,000 * 14! 150,000
Osdlg &, Y&EXF JHSGBIEHZSHILIZ
AF(L=0.5km) 50,000,000 * 14! 50,000
OEdlE 288X JIHSZIEZ S EEZAHL=0
5km) 50,000,000 = 14! 50,000

_20_




fAM: sgIlsdH
U SOFMAYN (SYHL M/ - SE)
TRl =HIIBtAIE 25t (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OEdlE EA4XF INAHSGZEZ SEHLEIAH(L=
0.5km) 50,000,000& » 14! 50,000
IS ZEZ ST (TAESE ) (ARSI GNL 571,000 2,340,412 A1,769,412
AENEES)
& 400,000
< 51,000
Al 120,000
403 Mt S E X201 H 571,000 1,300,000 AT729,000
=1 400,000
= 51,000
Al 120,000
02 I 2SO0l CH &HCH &8 AF & HI 571,000 1,300,000 A 729,000
Osdle 9&XF JAHSZEHZE HEZEIA(L=
1.4km) 150,000, 000& 14 150,000
= 105,000
< 13,500
Al 31,500
Osolg &, U JASBEHZ &#ELHE
= Ab(L=1. 1km) 150,000, 000& * 14 150,000
& 105,000
< 13,500
Al 31,500
OdZH ALZ, &4SXF JIASEEHZ &2 HE
2 Ab(L=1.5km) 150,000, 000& * 14 150,000
= 105,000
< 13,500
Al 31,500
OHGIH OIJHX 7 JIAHSEHZ SHIZTE S AL
=1.2km) 121,000,000 & * 14 121,000
& 85,000
< 10,500
Al 25,500
Moo -S4+l AEEU (BX) 400,000 700,000 A.300,000
< 120,000
Al 280,000
403 XAtXIHM S K201 ™ 400,000 700,000 A 300,000
< 120,000
Al 280,000
02 SJ|1 2SO0l CH &HCH & AF & HI 400,000 700,000 A 300,000
OJIAHY Sord=Z HEFALY
400,000,000 =14 400,000
< 120,000
Al 280,000
HAUAUNSTHIH(TANEZ)(ZAS2HSEX SN 2,873,000 2,679,000 194,000
@) (2 X)
= 1,675,000
< 359,000
Al 839,000
201 L2l 2,500 0 2,500




2N
X ZH -
L= B

el

O O OF
12 02 12

S

oy

z

T 02 M
>y T
oy @M
Nl
0

ou

%

02

4>

x

~

Ui

18]

i

B

0

ir
x

0l &t o

=

i
2m

= W

1,447
275
778

01

-SENSSEMLAY LEE =2 H
2

,500,000&

= H i

2,500
2,500

2,500
1,447
275
778

2,500

202

04|

= H g

2,400
1,389
264
47

2,400

01

= LH O b

OSENSSEMNLAYE =AY

= M08

2,400

2,400
1,389
264
747

2,400

301

e
T
H
0z
oy

= 0

19,200
11,114
2,111
5,975

19,200

02
>
>
i

1
S o
oo

O

™o
19

—>x 0o o
]
20
DHI [[g‘-l [IU
o =
e
=

= M0

19,200

19,200
11,114
2,111
5,975

19,200

403

X SHHSKH=201&

= H1 g

,848,900
,661,050

356,350
831,500

2,679,000

169,900

02

J
,183,000,000& 14!

He AL

,900, 0003 *14]

@
[}
(SN

= H g

= M 0g

,848,900

, 183,000

828,100
106,470
248,430

,665,900

832,950
249,880
583,070

2,679,000

169,900

sAoIsXNE(BX)

2,109
2,109

1,100

1,009

- 22 -




2N
X ZH -
L= B

el

O O OF

2= e
gdIYALSM (N L /= - 5F)
I BHAl & 25

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
202 o4dl 2,109 1,100 1,009
J| 2,109
01 = LH o4 1l 2,109 1,100 1,009
OsXol82eld® =N 2,109,000 2,109
J| 2,109
H)|=sZ 2% HOUZREZLEAHE(EX) 400,000 0 400,000
= 200,000
< 60,000
Al 140,000
403 XIS EA=201 & 400,000 0 400,000
= 200,000
< 60,000
Al 140,000
02 S| 2SOl CHSHCH & A B 400,000 0 400,000
OFJ =323t HOSEZEAS
400,000,000 * 1Al 400,000
& 200,000
< 60,000
Al 140,000
NaX+HMHIREL(EX) 135,000 0 135,000
< 67,500
Al 67,500
403 Mt S S X201 & 135,000 0 135,000
< 67,500
Al 67,500
02 S| 2SOl CHSHCH & A B 135,000 0 135,000
OMz=X =HMEHISJIAZTLEAEY
135,000,000 * 14 135,000
< 67,500
Al 67,500
HY2IZH(MSZ=F D) (JIEH/DIEH 70,440 78,020 27,580
Jl2du(dstd=81) 70,440 78,020 AT7,580
PA2IH(FESE=sH ) 4,500 10,800 A 6,300
201 Let24E] 4,500 10,800 A 6,300
01 At 2t 2l 3,620 9,920 26,300
ORM2Y Let=&Hl 3,620,000 3,620
02 2324l 880 880 0
ORN2YE 23R2= 480,000& 480
OSYZUAREN M3e3 400,000 400
HRZXOU (S E =T ) 51,480 48,840 2,640
202 044l 51,480 48,840 2,640
01 = LH o4 1l 47,520 44,880 2,640
FTRUPFLONE 20,0003 *18F«11L+123 47,520

_23_




AN seIIsHE

M. HMSAHH (HESIASsHY)(IIEH/DIE
Crel JIEFL (MY SED) (el @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
02 EHN Y| 3,960 3,960 0
OMd=sSEZ2AE NI22K
330,000& x1H x12& 3,960
=AY (MESASsHY) 14,460 14,380 80
203 ¥R =&H| 14,460 14,380 80
01 J|2A2H L R=XH| 3,300 3,300 0
OJ22HIL2 =X () 3,300,000 3,300
02 3ROt E R =AY 6,960 6,880 80
OFIAINNMAR Y| 80,000& x87H 6,960
04 ENSHLR=AH| 4,200 4,200 0
ORNSIIIFAHI(HA:16Y9)
350,000& x12& 4,200
s¢% . SEYilId(sEHlYEN/sE - 55) 1,705,368 2,107,065 N401,697
= 113,760
= 108,000
< 110,511
Al 1,373,097
s=ggEg XA 814,256 1,025,727 AN211,471
SENC AL 494,312 538,391 A 44,079
101 @121l 113,937 44,237 69,700
04 JI2ZtHI22XNHESE 113,937 44,237 69,700
OANEE22 15,579
e rals| 38,880& x2H x180 13,997
A28 JI2R2E23 13,997,000& *11.3% 1,582
SR SIS AL (ZMA AT, 22]) 31,158
el 38,880& x4 180 27,994
A28 JIaRg3 27,994 ,000& *11.3% 3,164
OR+XNSSFAL (LR &HE) 38,400
-0l 21 d| 200,000& »20H x9& 36,000
28 Y 20 &Y 120,000& »20¥ 2,400
OsABHAHZAZIEZ (U &S) 28,800
e rals| 200,000& 159 x9& 27,000
-85 L 203 120,000& *15H 1,800
201 et A | 158,253 158,810 N 557
01 AFR22t2l Yl 35,832 39,920 AN4,088
O1.dBtx=2H| 15,900
-SEIEMNY JIE=SHI 7,000,000& 7,000
-SEXNZAIY EDNN K2l 20,500& x200% 4,100
-2O0IHHIAIAE 200,000 20 A~ 12 4,800
O5.= &l 12,432
KNI EAY F& 0222 =4
7,000& x5 122 x 12& 5,040




2AM: sgIls4d
B 5o SELMNA(SEHLSM/5Y - 55)
el sEHES K (S &2)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
C=goAEL O22ek 24
7,000 x11H 8L x12& 7,392
O6. &4 xt = 7,500
~S %7 A EE, 2AD| Xt
500,000& *153] 7,500
02 352494l 122,421 118,890 3,531
Oo1.33e2 59,347
-NEe3 13,800
=24 700,000& x12& 8,400
sH 30,000 150 A 12 5,400
-MIIR3 35,000,000& 35,000
Aol e 5,000,000& 5,000
- 1,547,000 1,547
-B8a 4,000,000& 4,000
O2.49 2 H| 28,149
-ALR A o 2| 20,805
=2 1,500 95 204 *4A| 2+ 11,400
A E 1,100 *95 *6 Al 2F*x 15JH & 9,405
-0l & Xt 1,700 604 *63] x 1200 2 7,344
O3. A& & 15,585
- AMS X 13,185
209 OloH(2A , 5824 4)
3,248& x3,741m 12,151
5E0I5HIIE SHASA)
1, 118& x924 m* 1,034
-0l & Xt 200,000& ~12CH 2,400
O4. 1t H 19,340
-5&Xt 4,636,000& = 1CH 4,636
-SE X 2,635,000& *x2CH 5,270
-3t 2 Xt 4,717 ,000& =2CH 9,434
202 04| 45,160 50,520 A5,360
01 2L Y| 20,160 35,520 A 15,360
Os=sgola S A E
60,000 11 x63] 3,960
Oosd - &d 2 Ws A0
60,0003 *6H 3 x73] 7,560
Osgd3 M NE FA0HY
60,0003 8«32 0F 63| 8,640
04 = Xl 3t Yl 25,000 15,000 10,000
OldsZ=HLAIE0IES =8 22 0|
5,000, 000& 53] 25,000
206 TH 2 HI 95,000 90,000 5,000
01 M= bl 95,000 90,000 5,000
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A sgI=HH
HE: 59 SELENA(SYHYSM/5 - &)
el sEHES K CERED
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OfEXF=H ZJSAIE ZMA THE
4002 *200,000= 80,000
OA=s= Y AlgorS XN
15,000, 000& * 100 &~ 15,000
301 et A= 3,962 30, 124 N26,162
09 2AUZ2LRIBAZ 3,962 11,749 NT,787
O3d2ReEA 3,962
-Jl23 97,500& x1H ~ 128 1,170
-=AlH| 7,0009 x 1«22 x12€ 1,848
- S| 2,400 x1Hx22L x 128 634
-1 24| 140,000 1 x23| 280
-ECP S=&E3H| 15,000& 1 x2 Y 30
401 AlEHIZL 201 Y| 65,000 164,700 A 99,700
01 Al&H| 65,000 164,700 A 99,700
Osglls=dH SIIAE BELZ2A
20,000,000& x 14! 20,000
Osglls=HdH XotaED HES 2A
30,000,000& x 14! 30,000
OsgJll=HdH LEDS WA 300, 000 *50H 15,000
405 XHAHFEI S HI 13,000 0 13,000
01 XAt 2 E F S| 13,000 0 13,000
Osgol Nz 13,000
—ZH At 250,000 *20H 5,000
-9 Xt 200,000 =404 8,000
S=E0d" g4 217,680 225,930 A8,250
201 et d| 3,680 4,180 A 500
01 AP 22| d| 3,680 4,180 A 500
O1.B8t==H| 2,000
ST Rell SRS DN
5,000& 4008 2,000
O5.2&4| 1,680
-SEQSN UREN 22X 4
7,000 x2H x10L x12& 1,680
206 M = H| 15,700 16,080 A 380
01 X2 H| 15,700 16,080 A 380
OMEINAHI A sEIIY AESHE
20,000 *400H 8,000
Ost&gHHM & & 203 &I M=Hl
2,000,000& *23| 4,000
O4-H=E M P 250,000 8K & 2,000
Od=sgo sEIIEg a3y
20,0009 x85H 1,700
301 et A= 41,700 55,170 N 13,470
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fAM: sgIlsdH
B 5o SELMNA(SEHLSM/5Y - 55)
el sEHES K (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
10 #ALAHIE A Z 40,800 53,170 A12,370
OsZXNE&EX &30 FIHA b
60,0003 «80H x2 9,600
OStE T EATCHY DKBAF 240
60,0003 «50H x2 6,000
OdEIMNLe d30Hal FHIHAWH
60,0003 «80H x2 9,600
O4-Hal S22 &I Y|
60,000& *10 43 2,400
OE25gd73 WsEI (Wl 60,0008 100 6,000
O4-H&t0tE BEE I 0l 60,000 «60H »2 7,200
12 JIEtE4 3 900 2,000 A 1,100
O2=xgu 4-Hs| Al& 300,000 34 900
307 21201 A 35,100 39,000 A 3,900
04 BIZHSHALE & 35,100 39,000 A 3,900
OMRs S® IRI| AIHA XN
600,000 *15J0 2 *90%<& 2> 8,100
OsEXNEX - HEIHLHE HES
30,000,000 *90%<& 2> 27,000
402 RIZ2tXt20l ™ 121,500 105,000 16,500
01 QI2tX2E X 121,500 105,000 16,500
OUNSHSUETMADH LSS
5,000, 000& *307H 2~ *60/100 90,000
O&sgol d&F2 U3A AXI| AlY
4,500,000& 109 £ *70/100 31,500
sgolussEd 61,960 75,524 A 13,564
201 LBt 30,320 23,516 6,804
01 At 22l 8l 26,720 19,516 7,204
O1.€8=&H| 13,000
-—sgous F& 4| 3,000,000& 3,000
=0 AZstW=E Wi M
5,000& *2,000% 10,000
O3.2d=¢ 5,200
SEAY EM ERTR LAY
200,000 x2H »33] 1,200
B2 A= TANLY
100, 000& x2H 103l 2,000
—SAUERS2L(GAP) LS ZAE
100, 000& 12 103l 1,000
=EXNESHED 2% BALY
200,000& x 1«53 1,000
O5.= &l 2,520
-DSEY OFA22X S A
,000& x3H 10 123 2,520
O6. 91tz 6,000
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SN sYIIEHE
H: 5 sZdiId(sgHllSd$p /s - s5)
e =g N (2 &HH)
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o %@i HRE2
T =QlE A5y YA
1,000 x3,000m 3,000
- & AHl X 250,000& *3CH x4 3] 3,000
03 HAI2 G HI 3,600 4,000 A 400
O=go DEY RSIFAE L Bastgs &I}
2A 29 4,000,000& x90%<& 2> 3,600
206 M = Hl 21,400 14,128 7,272
01 X2 4| 21,400 14,128 7,272
OFAQ sM=ANE MHEH 10,0002 *300H 3,000
OsEdE23s 0 29 MaH|
20,000 x40 33| 2,400
OXS=sdUs AsZEH 2¢9 16,000
-S04 200 x10& 1,500 3,000
-Bl2 04 10,000 *2= x300 &L 6,000
-=J|3 20,0002 x5= *30H 3,000
-XF=Ue 3= 1,000 x4 *1,000H 4,000
301 et A= 10,240 17,880 N7 ,640
10 HALAHI 2 A2 10,240 17,880 AT ,640
OMillsgol A3 W3H 7,000 x720H 5,040
ONelol sEd8gns EIJIA ol
20,000& *200H 4,000
Osgol & -4 B=s0d]
60,000& 20H 1,200
SEMEINAS XS 40,304 185, 882 A 145,578
101 e1214| 9,088 8,602 486
04 JI2tHI22NEE S 9,088 8,602 486
OAHI XS &F 22 9,088
-0l | 38,880& x1&H x210 8,165
-AlEE J|a8=2 8,165,000& *11.3% 923
201 gBt24y| 15,016 4,680 10,336
01 AP 22| H| 15,016 4,680 10,336
O1.48t4=2H| 6,000
-METIY E@2F8 2| 2,000,000& 2,000
-METIRIALY 22 2 KoIS X &
1,000,000 x2Z #23| 4,000
03.248¢4 7,000
-MEMED|s W) N dAIx=E
100,000& x1H *x203] *3 1 & 6,000
—SENEZZ T2 2AASY
100,000 x1H «103] 1,000
O5.2 &l 2,016
~METIRAL2 0242 2A 24!
7,000 x3H x82 x12& 2,016
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AN seIIsHE

HE: 59 SELENA(SYHYSM/5 - &)
e sIASEA Jl=XE (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 3,360
01 AP 22| H| 4,800 4,920 AN 120
O1.Bt==H| 1,200
—SE0HEY)Isn=s DMMHE
20,0002 *x302 2= 1,200
< 360
Al 840
0O3.82dxd 3,600
—SENAEREY JsNs TAEE 3,600
coae(J|=2) 100, 000 x20} & %123 2,400
= 720
Al 1,680
ol Bk (x= 1) 50,000& 21t & %123 1,200
= 360
Al 840
206 M = Hl 6,600 10,080 N 3,480
= 1,980
Al 4,620
01 M =4l 6,600 10,080 N 3,480
Os&0i42I20s W2
10,000 *30H 21 A x113] 6,600
= 1,980
Al 4,620
301 et A= 3,600 0 3,600
= 1,080
Al 2,520
10 HAFAHI B &2 3,600 0 3,600
OsZE04d2g)Isu=s &XAs o4l
60,0003 x30 23| 3,600
= 1,080
Al 2,520
o S 4-HTHH A AFSEDHRI AL (2 X ) 5,000 5,000 0
< 1,500
Al 3,500
307 212t0| & 5,000 5,000 0
=} 1,500
Al 3,500
02 QIZ2tB A X 5,000 5,000 0
OSs4-HSHM Mo D MAFS
5,000,000 *1JH 2 5,000
o=t 1,500
Al 3,500
MEHMEY N2REEXA(BX) 17,760 12,950 4,810
= 5,328
Al 12,432
201 YEt2 Ayl 17,760 12,950 4,810
= 5,328
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AN seIIsHE

B 5o SELMNA(SEHLSM/5Y - 55)
9l S)IASHA SN (298 R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 12,432
01 At 22l 17,760 12,950 4,810
O1.det=2Hl 17,760
—HEIHLHR R ME2RER 37,000& =480 17,760
< 5,328
Al 12,432
sAUsEHEIL(BX) 110,000 60,000 50,000
< 12,000
Al 98,000
402 RIZ2EX20| A 110,000 60,000 50,000
= 12,000
Al 98,000
01 RIZERt2E X 110,000 60,000 50,000
Os=028AZRAEY 110,000, 00024 14! 110,000
= 12,000
Al 98,000
SELO LEHE D2 2ANA(LE) 5,000 0 5,000
= 1,500
Al 3,500
307 21201 A 5,000 0 5,000
< 1,500
Al 3,500
02 2ltF A E X 5,000 0 5,000
O=&L0 LEHET2 Y2
5,000, 000% * 104 & 5,000
< 1,500
Al 3,500
HEBRIN=sGEEXNXNSE(BX) 2,400 0 2,400
= 720
Al 1,680
201 Let2d] 2,400 0 2,400
< 720
Al 1,680
01 At 22l 2,400 0 2,400
O1.4Bt=2H| 2,400
2RI =Y FENNH
20,0003 x10H ~12& 2,400
< 720
Al 1,680
stMA-HEI R FRIBS K (2X) 5,000 5,000 0
= 1,500
Al 3,500
206 T2 HI 5,000 5,000 0
= 1,500
Al 3,500
01 =8l 5,000 5,000 0




2N S SME
HE: 59 SELENA(SYHYSM/5 - &)

?: stasEgy J=NE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ostdatsld HHES Ma
500, 000& 1004 2 5,000
< 1,500
Al 3,500
SHZIMHE nENIA(EX) 10,000 10,000 0
= 3,000
Al 7,000
201 Let24E] 3,600 6,400 A 2,800
< 1,080
Al 2,520
01 At 22l 3,600 6,400 A 2,800
O1.det=2Hl 1,200
S5 AYOANYDE DM
15,000& »40F *25 1,200
< 360
Al 840
O3.2d==¢ 2,400
-SYUFE0NE WE A+E 2,400
T Eg012) 200,000& =83l 1,600
< 480
Al 1,120
T SE(E) 100, 000& 82| 800
< 240
Al 560
301 YA 6,400 3,600 2,800
< 1,920
Al 4,480
10 AR HI 242 6,400 3,600 2,800
O=sgelZdIdiiE us s ol
20,000 *40H »23] 1,600
< 480
Al 1,120
O=ZZH0AE ns XA ol
60,000 *40H »23] 4,800
< 1,440
Al 3,360
SENCKH SNMMDIME 2Y(2X) 8,000 5,000 3,000
< 2,400
Al 5,600
402 RIZ2EXt20l ™ 8,000 5,000 3,000
< 2,400
Al 5,600
01 RIZEAt 22X 8,000 5,000 3,000
OsEXNEA S8 HHE 29
8,000,000 14 & 8,000
< 2,400
Al 5,600
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2N S SME
HE: 59 SELENA(SYHYSM/5 - &)

=} =
el SItASEd JIsXE

= - - SHE|
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 e
A4 H B =sMsAIZHHMOI=(EX) 10,000 10,000
< 3,000
Al 7,000
402 RI2EX=20| M 10,000 10,000
< 3,000
Al 7,000
01 22t 22X 10,000 10,000
O4-Hal @ =M= JI=HO0lI==
10,000, 000& *17H 2 10,000
< 3,000
Al 7,000
Hedsgodissldaldds(Ex) 2,000 2,000
< 600
Al 1,400
301 gt L= 2,000 2,000
< 600
Al 1,400
07 BI2HQI = 2| 04 HI 2,000 2,000
Os+sla sHelos ZHL
2,000,000& x1 2,000
= 600
Al 1,400
RSAHRIISH(BEX) 10,000 10,000
< 3,000
Al 7,000
307 gl2tol & 10,000 10,000
< 3,000
Al 7,000
02 RIZHE A E X 10,000 10,000
O=xecls8adzs &4 10,000, 000& 10,000
< 3,000
Al 7,000
4HS LB RAHAH S () 2,000 2,000
< 600
Al 1,400
301 YU B A 2,000 2,000
= 600
Al 1,400
07 2I2tol= 2l o4 Hl 2,000 2,000
O4-He =32 & A= FHEA
2,000,000& x1H4 2,000
< 600
Al 1,400
SO NSEHUANLGLIH S (EX) 50,000 50,000
< 15,000
Al 35,000
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2N
X ZH -
L= B

el

=
=]

=
=]

=} =
stasgd JleXd

o0 = MIE
o SEUMIA (S

= UAA /=Y . =E)

(ALY

t=1

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 A& HIZ 201 I 50,000 50,000 0
< 15,000
Al 35,000
01 A& HI 50,000 50,000 0
OZxecladssd elz2gd 50,000, 000& * 14! 50,000
< 15,000
Al 35,000
HElOlsEMERAMRI(EX) 30,000 30,000 0
< 9,000
Al 21,000
201 Let24E] 14,400 0 14,400
< 4,320
Al 10,080
01 At 2teltl 14,400 0 14,400
O1.det=2H| 400
-0 0lsEME R 24 100, 000 & *4 2] 400
< 120
Al 280
O6.2xt=z 14,000
-dEg X gt 500,000& »28CH 14,000
< 4,200
Al 9,800
301 et a3z 15,600 30,000 A 14,400
< 4,680
Al 10,920
10 HALAHI 242 15,600 30,000 214,400
O0gllsENguns 29 12,000& =1,300& 15,600
< 4,680
Al 10,920
SEMNBAH NI RNS2IAE(EX) 10,000 10,000 0
< 3,000
Al 7,000
201 Let249] 3,600 2,000 1,600
< 1,080
Al 2,520
01 At 22l 3,600 2,000 1,600
O1. L Et==ZH| 1,600
—SEMEAHN DWW ME
20,000 x40 +2& 1,600
< 480
Al 1,120
O3.2d=¢ 2,000
—SENEAHN BLE TAsY 2,000
oI 2) 100,000& 102/ 1,000
< 300
Al 700
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2N S SME
HE: 59 SELENA(SYHYSM/5 - &)

?: stasEgy J=NE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
©odBh(=ED) 50,000& *2Al 2t+102] 1,000
< 300
Al 700
301 LA Z 6,400 8,000 A 1,600
= 1,920
Al 4,480
10 #AAHIEAZ 6,400 8,000 A 1,600
OsEASAHX 8 WE0|
20,0003 «40H «83] 6,400
< 1,920
Al 4,480
SENLFYESNA(ED) 105,000 100,000 5,000
= 31,500
Al 73,500
402 RIZ2HXt20l ™ 105,000 100,000 5,000
< 31,500
Al 73,500
01 QIZEAI 22X 105,000 100,000 5,000
OXNS=ssStS AL E & X
150,000,000 = 1K 2~ 70/ 100 105,000
< 31,500
Al 73,500
SENCHSLIANAA S (B E) 2,000 2,000 0
< 600
Al 1,400
301 LptR &3 2,000 2,000 0
< 600
Al 1,400
07 2I2toI= 2l 04 Hl 2,000 2,000 0
OsENRsz s B2
2,000,000 «1H 2,000
= 600
Al 1,400
SHOCMEUS I XA (BX) 14,940 0 14,940
< 2,988
Al 11,952
301 YA 14,940 0 14,940
< 2,988
Al 11,952
10 AR HI 242 14,940 0 14,940
Ol Ssl&ItA Kbl
60,000 *x249H 14,940
< 2,988
Al 11,952
d2=sglls NEJgt =4 447,762 622,138 A 174,376
= 113,760
& 108,000
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Al
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AN sg€II=4dH
B 5o SELMNA(SEHLSM/5Y - 55)
Sel: M2sYlls NEIlY =4 EEREED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 2ItF & E X 5,000 5,000 0
OsXHgetdiid HOol&Ed AL
5,000,000& 5,000
= 2,500
Al 2,500
402 RIZ2FX201 A 44,000 41,700 2,300
& 22,000
Al 22,000
01 RIZERI2E X 44,000 41,700 2,300
Os&gadiied HolEd B2
44,000,000 * 101 2 44,000
= 22,000
Al 22,000
SEXNZEH(BX) 6,000 240,000 A 234,000
& 3,000
Al 3,000
405 RHoHE S HI 6,000 240,000 A 234,000
& 3,000
Al 3,000
01 AL EZFHSHI 6,000 240,000 A 234,000
OSQUODSR YI2ME  3,000,0008 *1CH 3,000
= 1,500
Al 1,500
Osgel nsd g3l 3,000, 000& 3,000
& 1,500
Al 1,500
sdolsed(Ex) 35,760 40,022 N4,262
= 17,880
Al 17,880
201 YEr2 Y| 13,320 16,650 £3,330
= 6,660
Al 6,660
01 At 2t 2l 13,320 16,650 A 3,330
O1.Ler==&H| 3,000
—sJoltHs WMAMZE 20,0003 «502 310 & 3,000
= 1,500
Al 1,500
03.28=¢ 10,320
-Sgels ZAsE 10,320
SEZAMOI2) 200,000& 83| x31t & 4,800
= 2,400
Al 2,400
Sg 2 A=) 80,0003 83| x31t & 1,920
= 960
Al 960
U2 AHII2) 100,000 *83| *31 A 2,400
= 1,200
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AN sg€II=4dH
il z¢  sELIN(sadsd/=d - &)
Sel: M2sYlls NEIlY =4 EEREED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 1,200
©UBR2EAN(Z D) 50,0003 83| *31t & 1,200
= 600
Al 600
301 e A3z 22,440 15,180 7,260
= 11,220
Al 11,220
10 #ALAHIE A2 22,440 15,180 7,260
Osgotistn=sd ddadsusg FILA o
20,0003 *40H #3104t & #23| 4,800
= 2,400
Al 2,400
Osgotistnsd dMXws I 0fd]
60,0003 *40H #31t & +23| 14,400
= 7,200
Al 7,200
OsgoIs DRBLT D4
7,000 40 #3104t & #23| 1,680
= 840
Al 840
O=golthsr 2efZrAb bl 60,000& 26X 1,560
- 780
Al 780
SEHLEXUESLH(ER) 50,000 100,000 A 50,000
z 25,000
Al 25,000
307 glz2tol & 10,000 25,000 A 15,000
& 5,000
Al 5,000
02 RIZHE A E X 10,000 25,000 A 15,000
OsEATT20I2 ALH4DY 29
10,000,000 =120 & 10,000
& 5,000
Al 5,000
402 212t X =0 & 40,000 73,200 A33,200
2 20,000
Al 20,000
01 RIZERI2E X 40,000 73,200 A 33,200
Os&EHZE08 SH2UIEE)
40,000,000 * 104 2 40,000
& 20,000
Al 20,000
SUANMBWE(EX) 21,100 41,000 A 19,900
= 8,500
Al 12,600
201 L2l 7,100 24,500 A 17,400
= 3,550
Al 3,550
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fAM: sgIlsdH
M =9 SEYFND =9 . 5 &)
?e: d2sells A& )
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 At 22|l 7,100 24,500 217,400
O1.€8t=&H| 2,800
=Y ME DS B HMA
3,000& *1002+65 1,800
= 900
Al 900
=YINMENS ADE 7Y
100,000& 102/ 1,000
= 500
Al 500
03.2g8=¢ 4,300
-sHoNZ 3,800
sEg2 200,000& =103l 2,000
= 1,000
Al 1,000
sgd 80,000& %103l 800
= 400
Al 400
Bkt 100,000& * 103l 1,000
= 500
Al 500
—LBFZ A= 50,000& *102] 500
= 250
Al 250
206 M= Hl 4,800 7,500 A2,700
= 2,400
Al 2,400
01 MZ 4l 4,800 7,500 22,700
Osgeldz
000& x40 21t & »33] 4,800
= 2,400
Al 2,400
301 YU B A 9,200 9,000 200
= 2,550
Al 6,650
10 #AIAHIE A Z 9,200 9,000 200
Osgeldzus &4 Al 7,000 500 3,500
= 1,750
Al 1,750
O=sgedEus ZHAE 04
150,000& 6 900
= 450
Al 450
O=sgeldsNuns 48X Ol
60,0003 *40H 23] 4,800
= 350
Al 4,450
CERRAER2AN IS L} (EX 7,560 11,520 A 3,960
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AN sg€II=4dH
B 5o SELMNA(SEHLSM/5Y - 55)
&??: 8=l NEJIE &4 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 3,740
Al 3,820
202 odl 7,560 11,520 A 3,960
= 3,740
Al 3,820
01 = LH o4 1l 7,560 11,520 A 3,960
OFEZsEHEY g3X&d Wl
60,000 *21H 32 23] 7,560
= 3,740
Al 3,820
NZsGUstESAS 2 NE(EX) 1,400 2,000 A 600
= 700
Al 700
201 L2l 1,400 2,000 A 600
= 700
Al 700
01 At 22l 1,400 2,000 A 600
O1.4et=EHl 350
MEEEA0s NOTE A
17,500& 205 350
= 175
Al 175
03.28=¢ 1,050
~MEEEAOS oA+ 70,0008 %15 1,050
=2 525
Al 525
ANZ sEZXEAY 885 B (BX) 10,041 10,035 6
= 5,000
Al 5,041
101 @124l 10,041 10,035 6
= 5,000
Al 5,041
04 JI2ZtHZ22EE = 10,041 10,035 6
Osgllsdeged 38,880 x1H %232 9,021
= 4,510
Al 4,511
O4li2E JIARES 9,021,000& *11.3% 1,020
= 490
Al 530
HESHBY(TL5)S8(2X) 85,001 116,000 ~30,999
= 42,500
Al 42,501
101 14l 10,819 0 10,819
= 5,409
Al 5,410
04 JI2ZtHZ22HEE = 10,819 0 10,819
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2N
X ZH -
L= B

el

> OF OfF
M0 12 1Q
o

o -

= HE
SELHNA(SYHLLL/5Y - 5&)
9lE NEIle £4

CHE - EI(BA) - NRAY - BYS

=

i
2m

OZ4s B2l 2| 38,8802 2502 9,720
= 4,860
Al 4,860
o4 JlARL2 9,720,000 *11.3% 1,099
= 549
Al 550
oBr2 | 18,302 6,500 11,802
= 9,151
Al 9,151
AR 22|l 18,302 6,500 11,802
O1. et 12,302
LA e ¥ D M
15,0008 *55 %1005 7,500
= 3,750
Al 3,750
-LAs D E2S MR 3,982,000 3,982
= 1,991
Al 1,991
-ZAs OIS DM KX 82008 *100% 820
= 410
Al 410
03.29+9 6,000
-LAs D SE TAE
200,000 6% *53] 6,000
= 3,000
Al 3,000
ot 6,000 2,800 3,200
=2 3,000
Al 3,000
=L 01 bl 6,000 2,800 3,200
OHNESIIEY (YAs)SH AL ol
60,0008! *20% *53] 6,000
= 3,000
Al 3,000
W2l 8,000 0 8,000
=2 4,000
Al 4,000
WET] 8,000 0 8,000
OZ4s IS WE 7 20,0008 *100 #43] 8,000
= 4,000
Al 4,000
SRR 41,880 10,700 31,180
= 20,940
Al 20,940
AL AH AR 41,880 10,700 31,180
OLAs ADS(3Y2H) BSO L
60,0008 *40 x4 9,600




2N
X ZH -
L= B

el

Mz

o
> n

Sy
o

02 O M
[a

> OF OfF
M0 12 1Q

O

EWETCHETEEL T D
pNI=P]

(=)

S B G(SA) - NRANY - BES il 2
= 7,800
Al 4,800
OZd4s 2= X ws0H|
60,000 *80H x4 2] 19,200
= 9,600
Al 9,600
O4E 22 U o9 HA 24
60,000 *35&H 22 23| 8,400
= 4,200
Al 4,200
OZas wsEAX 54 7,000& 100 #52 3,500
= 1,750
Al 1,750
OZA=s EHItal A& 30,000& x16H 480
= 240
Al 240
Odas "itsl 4L =4 7,000& x100H 700
= 350
Al 350
SEDSSTAYANY(RE) 50,000 50,000
2 25,000
Al 25,000
402 212t X201 & 50,000 50,000
= 25,000
Al 25,000
01 22t 2E X 50,000 50,000
OsEusssd =4 25,000,000& *20H A& 50,000
& 25,000
Al 25,000
NEZoe A2y Ds(2X) 11,220 11,220
2 5,600
Al 5,620
201 YBt2 | 6,000 6,000
2 3,000
Al 3,000
01 AFR2t2l | 6,000 6,000
O2. 9=t DS 6,000
EYAAWSAALDS AL DY)
1,500,000 *43] 6,000
= 3,000
Al 3,000
202 (44l 5,220 5,220
= 2,600
Al 2,620
01 SLHOIYI 5,220 5,220
ONEZSRd d2d== 0l
60,000 *1H 602 3,600
= 1,800
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AN sg€II=4dH
Ym0 SEYANA(SEHLLM/5Y - 52)
gel: d2sglls NTJlg &4 fEH)
= _ — d =
SA - B (SA) - MRAY - BYS e 2
Al 1,800
OsYASTSoIASH Ot
60,000 «1H %27 1,620
= 800
Al 820
SENZIIBAIE(EX) 60,000 60,000
& 30,000
Al 30,000
401 AIEHIZ 2T b 60,000 60,000
z 30,000
Al 30,000
01 A& HI 60,000 60,000
Osgeusd cl2ed 60,000, 0003 * 14! 60,000
= 30,000
Al 30,000
HsAEDRSA(2X) 20,000 20,000
= 10,000
Al 10,000
201 LEt2A | 7,180 7,180
= 3,590
Al 3,590
01 AtR 22l | 7,180 7,180
O1.dBt=2Hl 2,700
-AsHELSE UM MEH 2,700,000& 2,700
= 1,350
Al 1,350
03.2g8=€ 4,480
AsHE s 2AE 4,480
Sg2AII2) 200,000& =83l 1,600
= 800
Al 800
© SE2AH (=D 80,000 *2Al 2t *82] 1,280
= 640
Al 640
©oYBRAAN(DIE) 100, 000& 82 800
= 400
Al 400
U2 AH(Z 1) 50,0003 *2Al 2t *82] 800
= 400
Al 400
301 et A= 12,820 12,820
= 6,410
Al 6,410
10 HALAHI 24 S 12,820 12,820
OXsAZENSY s F4K 0l
20,000 *40H x52] 4,000
= 2,000
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AN sg€II=4dH
HE: 59 SELENA(SYHYSM/5 - &)
&??: 8=l NEJIE &4 (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 2,000
OFsHEUSY FXAS Kl
60,0003 *40H 33| 7,200
= 3,600
Al 3,600
OFAsHEUSE AT 24 7,000& «40H 33 840
= 420
Al 420
OHA=sHELSE 2AH2ZAF O8] 60,000& x13H 780
= 390
Al 390
AsHESEASNA(ER) 30,000 0 30,000
= 15,000
Al 15,000
301 L2 A= 30,000 0 30,000
= 15,000
Al 15,000
12 JIEtE4 S 30,000 0 30,000
OFsk = Btz 800,000& x5H x5 20,000
= 10,000
Al 10,000
OHlE A Ba3 400,000 x5H «5& 10,000
= 5,000
Al 5,000
HE2AHU (sEXA ) (IEH/IIE) 135,790 156,826 A 21,036
Jl2dtl(sEX& ) 135,790 156,826 221,036
PA2EH (sEXS 1) 49,450 65,926 A 16,476
201 Let249] 49,450 65,926 AN 16,476
01 At 22/l 48,970 64,390 215,420
ORN2Y Let=EH| 4,670,000 4,670
Ospagls gsixgy
100,000& 1571 A %123 18,000
Og =t 26,300
S 60,0003 x1H x 115 6,900
_ax 19,400
=2 50,0003 « 1 «250 12,500
=< 60,0003 x1H » 115 6,900
02 =224l 480 1,536 A 1,056
ORNE2Y 23R= 480,000& 480
HRFEIAHH (sEX 1) 82,080 86,640 A 4,560
202 04l 82,080 86,640 A 4,560
01 = LHO Yl 39,600 31,680 7,920
OFYSF=THH 20,000& x15H 11« 123 39,600
02 M0 42,480 54,960 A 12,480
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AN seIIsHE

M HE2IHH (&R D) (IIEH/IIE
¢ J2dbl(sEX21) (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OSHagA ISR AN 42,480
A AEA(ED], B0, 5 ,7F8E, 52
Ils) 330,000& x6H 123 23,760
“JIEtaE A 260,000& x6H 123 18,720
HRELH (sEXA D) 4,260 4,260 0
203 PR =&l 4,260 4,260 0
04 EAN2I LRI 4,260 4,260 0
ORNSY ALEXY (B :31Y) 4,260
-Jl2 350,000& 128 4,200
-z 5,000&x18«12& 60
SN B UG (ML /5L - 5F) 10,931,254 8,864,918 2,066,336
= 680,242
| 1,103,175
< 1,299,271
Al 7,848,566
FSHLAENE 3,560,504 864,732 2,695,772
< 153,613
Al 3,406,891
SHHE R A 68,860 82,380 A 13,520
201 LB-2EH| 12,200 12,360 A 160
01 At 2t 2l 12,200 12,360 A 160
O1.det==2Hl 8,000
-SAMYTE LEt=ZH| 3,000,000& 3,000
SEAAY U DHS SN S0
5,000& 5008 2,500
-FTAUE S&s0t I8 usisg =2
5,000& 5008 2,500
O5.= gl 4,200
SEMHMFHASET OFA22T B4
7,0003 x5 «10 x 128 4,200
202 oddl 5,400 5,520 A 120
01 = LH o4 1l 5,400 5,520 A 120
OFMBHALEA 0fY]
60,0003 *5H 3 63 5,400
206 M= Hl 9,000 14,000 A5,000
01 =8l 9,000 14,000 A5,000
O=sst- EMI| Yl moiueg 47
50,000 *40S x2& 4,000
O=st- EAMI| CHHl moHoe X2
100,000 *50& 5,000
301 LEtE A= 37,760 45,500 ANT,740
10 #AtAHIZ A3 37,760 45,500 NT,740
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2N
X ZH -
L= B

el

20| & ME
o FWE ASHSHY

= _ — d =
HE - B (3H) - KISAY - BYS 0l &t o il HImEET
OF4sdt Il nsdE88 W24
60,000& »20H 1,200
Osgtelol & AL 4 ol
60,000& 40X 2,400
OZ8s 285 =34 ¢ Mze B4
800,000 45 3,200
OFRE SMHA HASI 0t
60,0003 *15H *23] 1,800
Ostd Me=0t He
30,000% «60H *102 *90/100 16,200
OZOHerd MW&s0t ME
45,000% 20 162 *90/100 12,960
307 glz2tol & 4,500 5,000 A 500
04 QIZHHALE = 4,500 5,000 A 500
Oet:83l A3 5,000, 000& *90%<& &> 4,500
= RS ENE 249,200 214,500 34,700
402 RIZEX201 ™ 249,200 214,500 34,700
01 RIZEAI 22X 249,200 214,500 34,700
OX AT4HE LYY X2
15,000& *4,0005 *60/ 100 36,000
OFAtAIZ e X3
4,000,000& *15J A %60/ 100 36,000
Oet2ANS =3t SEXE X
20,000 *1,0005 *40/100 8,000
OESMASHE(HH0IE) X
9,000& *10,000m" «60/100 54,000
O EEE HHME=EX X&
50,000& *6005 *60/ 100 18,000
O=¢sIt 801 N&E
300, 000:& *300CH *60/ 100 54,000
OM& 2455 AZ4T N
600,000 *205 *60/ 100 7,200
OstRE A AL 10,000& *6,0005 *60/ 100 36,000
SO MAFHAIS (EX) 39,600 39,600 0
= 11,880
Al 27,720
307 21201 A 39,600 39,600 0
= 11,880
Al 27,720
02 2t M2 X 39,600 39,600 0
OSO0LXI & AHOHE ALY 10,000& *3,9605 39,600
< 11,880
Al 27,720
o x4 2,659,734 6,508 2,653,226
201 ¢4l 3,172 4,348 21,176
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2N

=
o
M. =
=

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 3,172 4,348 21,176
O1. e+ 2,500
~SOIEEY AREN UsL |
2,500,000 2,500
O5.3&H| 672
“SOIFEY ALE FA2L2T 24
7,000« 1P +8L «122 672
202 O4dl 900 2,160 A 1,260
01 = LH o4 4l 900 2,160 A 1,260
OshtEx=d FRFI 0o
60,0003 1 *x3 «53] 900
401 Al HIZ 201 I 2,655,662 0 2,655,662
01 A& HI 2,629,000 0 2,629,000
ISty =4 2,629,000
-Al & Hl 1,775,000, 000& 1,775,000
-sNEE 293 50,0003 *28,000m x50/ 100 700,000
-E X 04 & 8 500, 000& =308 m’ 154,000
02 Zteltl 21,800 0 21,800
Ooxgs0td &4 Zaltl
2,000,000,000& *1.09/100 21,800
03 Al 2 THHI 4,862 0 4,862
OnRES0tE =4 A2
1,929,000, 000& *0.36/100%70%<& 2> 4,862
SL2EHMAMGE(BEX) 32,000 30,000 2,000
< 6,400
Al 25,600
402 2I2H X201 M 32,000 30,000 2,000
< 6,400
Al 25,600
01 BIZEAt=2 82 X 32,000 30,000 2,000
O=g2&E HAAY 400,000& *1605 *50/100 32,000
< 6,400
Al 25,600
SLUSHINMAE (EX) 180,270 286,364 A 106,094
< 36,081
Al 144,189
402 DIZFRHE 0| A 180,270 286,364 A 106,094
< 36,081
Al 144,189
01 RIZERI2E X 180,270 286,364 A 106,094
O0IR Atz AL XA
17,000, 000& 2K 2~ 60/ 100 20,400
< 6,120
Al 14,280
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2N

X{ XH -
S =

M- B S9l(3) - =AY - BES il 2
OUANZE MelAa Aa
30,000, 000% * 12 2 *60/100 18,000
) 5,400
Al 12,600
OZAZR2I CCTV X2
4,000,000& *302H 2 *60/100 72,000
=) 3,600
Al 68,400
O&gd ds&tl XN&
2,000, 000% *30CH *60/100 36,000
S 10,800
Al 25,200
OXNEHAIE ZAAHY
1,250 *4,200H *60/ 100 3,150
< 945
Al 2,205
OLE SCAMIML ALY
65,000% *120 Ml £ %60/ 100 4,680
= 1,404
Al 3,276
OfAlR HAAS MDD ALY
20,0009 *1,4205 *60/100 17,040
=) 5,112
Al 11,928
Oosgax E2a=J XN&
250, 000% +60CH 60/ 100 9,000
= 2,700
Al 6,300
SWBAY(2E) 82,200 115,570 33,370
=) 24,660
Al 57,540
307 glz2+ol & 82,200 45,570 36,630
= 24,660
Al 57,540
02 2ItFAEX 82,200 45,570 36,630
Osgte gssE N& 6,000& +7,0005 42,000
< 12,600
Al 29,400
Oete 2R ALY 30,000& *5005 *80/100 12,000
=) 3,600
Al 8,400
ORdsd 24HMH1 1,000& +7,0005 7,000
< 2,100
Al 4,900
Oste S8 &AL M2 10,000& =1,0005% 10,000
) 3,000
Al 7,000
O X&E 22l 2,000& *7,0005*80/100 11,200
< 3,360
Al 7,840

_48_




AN sg€II=4dH
Ha: B4 FWY YS(SHYLA/5 - 5E)
EMASTR (Ete: 8 2)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
22 (EX) 58,200 59,160 A 960
< 17,460
Al 40,740
402 RI2EX=20| M 58,200 59,160 A 960
< 17,460
Al 40,740
01 RIZERt2E X 58,200 59,160 A 960
OZgsaz X 8,000& *10,000kg*60/ 100 48,000
< 14,400
Al 33,600
OXts €37 XA 1,000, 000& *5CH *60/ 100 3,000
< 900
Al 2,100
OgEHE HENFD N
6,000, 000& *2CH 60/ 100 7,200
< 2,160
Al 5,040
LAHBWALG N (EX) 25,590 30,650 25,060
< 7,677
Al 17,913
402 RI2EX=20l M 25,590 30,650 25,060
= 7,677
Al 17,913
01 RIZERIZ2E X 25,590 30,650 25,060
OHAlgtE K& 80& *140, 00021 60/ 100 6,720
< 2,016
Al 4,704
OsHAEA XN& 5,0002 500 %60/ 100 1,500
< 450
Al 1,050
OLED =ZIIJ| XN& 35,0002 *37091 60/ 100 7,770
< 2,331
Al 5,439
Ootlf 2R2AI4 X&
16,000, 000% *1JH 2~ 60/ 100 9,600
< 2,880
Al 6,720
NZ2FsE6 222 NI (EX) 27,600 0 27,600
< 8,280
Al 19,320
301 Lpte &3 27,600 0 27,600
= 8,280
Al 19,320
12 JIEtE4 3 27,600 0 27,600
Ol2=sd s N 150,000& 1845 27,600
< 8,280
Al 19,320
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AN sg€II=4dH
HE: BN WY S (SPHSLN/5Y - 55)
el BMASTE CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
BRSNS AEH XHF(EE) 7,350 0 7,350
= 2,205
Al 5,145
301 et d s 7,350 0 7,350
= 2,205
Al 5,145
12 JE2 4= 7,350 0 7,350
OHBASMZS AZH X
700,000& 1501 2 %70/100 7,350
= 2,205
Al 5,145
IETH BEE XN (2X) 40,500 0 40,500
< 12,150
Al 28,350
307 glz2tol & 40,500 0 40,500
< 12,150
Al 28,350
02 flZtF A8 X 40,500 0 40,500
OJt=Toll 282 XA
3,000, 000& *54JH 2 *25/100 40,500
< 12,150
Al 28,350
DIZLS BRUES SSAA(2X) 80,400 0 80,400
< 24,120
Al 56,280
307 gl2tol & 80,400 0 80,400
< 24,120
Al 56,280
02 plZtAAE X 80,400 0 80,400
O0lZiS BHESR SHAY 80,400,000 80,400
< 24,120
Al 56,280
EANTIANE QEEH(2E) 9,000 0 9,000
< 2,700
Al 6,300
307 glz2+0l & 9,000 0 9,000
= 2,700
Al 6,300
02 2ItFAE X 9,000 0 9,000
OFALEIIANE B A 60,0003 15000 2 9,000
< 2,700
Al 6,300
SMHFSEXE 3,908,066 3,904,314 3,752
J| 716,450
< 586,100
Al 2,605,516
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A sgI=HH
HE: BN WY S (SPHSLN/5Y - 55)
Sl MY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
FHHFIF2H 1,033,966 950, 464 83,502
201 LBt 9 ]| 4,016 4,184 AN 168
01 AP 22| H| 4,016 4,184 A 168
O1.det=2H| 2,000
—ESEAMAEAH 2L Yot 2,000,000& 2,000
O5. 24| 2,016
“ESNAYALET OIAILT B4
7,000 x3H x8L x12& 2,016
202 044 2,700 2,880 A 180
01 2L bl 2,700 2,880 A 180
OFNHEIGLEF =X AHH|
60,000 *3% 3L x53| 2,700
206 M = dl 8,000 0 8,000
01 X2 H| 8,000 0 8,000
OBl HHl LTINS H 7
2,000 %x2,0004 =23 8,000
402 IV X201 & 1,019,250 943,400 75,850
01 QI2t X228 X 1,019,250 943,400 75,850
O3s&Y AT MAAH| K&
10,000,000 *8CH *60/100 48,000
OME=sIt ZAISMAAEE K&
4,000,000 *20CH *60/ 100 48,000
OXSAE E8I|XHA
24,000,000 «8CH *60/100 115,200
OFSAMEHINAE SN
2,500 *350 4005 *60/100 210,000
Ol EH X& 1,500,000 «30CH 60/ 100 27,000
OodFeEXNsE sSFMAH XN
1,500 *2,0004 *50= *60/100 90,000
OFEZE AFUXMA XS 84,000
= 2,500 *30,000% *60/100 45,000
- & TH 2502 %200, 0000H *60/ 100 30,000
A (L)
3,000,000 x5JH x60/ 100 9,000
Ogk& Y| AMALHl X &
15,000 *15,000& 60/ 100 135,000
OgAM=sI 2t XsAE K&
6,000 x36,000% *50/100 108,000
OBSHY 244 +2)| 18
60,000,000 «2CH 60/ 100 72,000
Qlt=8L dHAZE HH(ExH) XA
100,000,000 = 1CH*60/ 100 60,000
OXEsIE dxE2ZH NS
5,000& *350kg*18= x70/100 22,050




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HHOISHEAMMRNE(EE) 46,200 48,000 A 1,800
< 13,860
Al 32,340
402 RI2EX=20| M 46,200 48,000 A 1,800
< 13,860
Al 32,340
01 RIZERt2E X 46,200 48,000 A 1,800
O&H0IE = MM X
120,000& *550 Al E*70/100 46,200
< 13,860
Al 32,340
IS MeAXNAAL (BEX) 179,200 226,200 A47,000
J| 89,600
< 26,880
Al 62,720
402 RI2FX=20l M 179,200 226,200 A47,000
J| 89,600
< 26,880
Al 62,720
01 RIZEAI2E X 179,200 226,200 A 47,000
ONs=2= Ml X 179,200,000& * 14 179,200
J| 89,600
< 26,880
Al 62,720
TASHADBEHSAIY (EX) 1,772,850 2,459,900 A 687,050
J| 626,850
< 343,800
Al 802,200
402 RIZ2EXt20l ™ 1,772,850 2,459,900 A 687,050
J| 626,850
< 343,800
Al 802,200
01 QIZERI 22X 1,772,850 2,459,900 A 687,050
OXZAIZ M aHD|EH 2HF ALY
1,772,850,000& 14! 1,772,850
J| 626,850
< 343,800
Al 802,200
ZASHAXZMNG (EX) 232,200 108,000 124,200
< 69,660
Al 162,540
402 RI2EXt20l ™ 232,200 108,000 124,200
< 69,660
Al 162,540
01 RIZERI 22X 232,200 108,000 124,200
OXAE MoHEH XI&
40,000, 000& *6 Ml E %60/ 100 144,000
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2N

X{ XH -
S =

= _ — d =
CHB - BI(BH) - NN - B 0l &t o il HImEET
< 43,200
Al 100,800
OAtE BHEDI XI& 30,000,000 »4CH*60/100 72,000
= 21,600
Al 50,400
OX2EAL e X E I K&
9,000,000 »3CH*60/100 16,200
= 4,860
Al 11,340
TAZINL(BX) 544,000 0 544,000
< 102,000
Al 442,000
402 RI2FXt20| ™ 544,000 0 544,000
= 102,000
Al 442,000
01 222 E X 544,000 0 544,000
OE"dH K& 260,000,000% *2CH *80/100 416,000
< 78,000
Al 338,000
otIA3a2Ha0HaH X&
160,000,000% *1CH +80/100 128,000
< 24,000
Al 104,000
ASHAAHEZHMAIA(ER) 7,000 4,000 3,000
< 2,100
Al 4,900
206 M= Hl 7,000 4,000 3,000
< 2,100
Al 4,900
01 =4l 7,000 4,000 3,000
Ored 4FHE2ZH XA 20,000 *350 L 7,000
< 2,100
Al 4,900
DIHASAIREINAN R (2X) 13,650 3,150 10,500
< 4,100
Al 9,550
402 RIZ2EXt20l ™ 13,650 3,150 10,500
= 4,100
Al 9,550
01 RQIZEAI 22X 13,650 3,150 10,500
OHA2LSAIZHILH XA
30,0002 *650% 70/ 100 13,650
< 4,100
Al 9,550
SHUHMAOMZIANLERN(BEX) 70,000 7,200 62,800
< 21,000
Al 49,000
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A sgI=HH
HE: BN WY S (SPHSLN/5Y - 55)
Sl MY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
402 SI2FXHE0| & 70,000 7,200 62,800
= 21,000
Al 49,000
01 QX2 X 70,000 7,200 62,800
OLNEE MY MA OIMZD ANEXLH
4,000,000 *25CH x70/ 100 70,000
= 21,000
Al 49,000
A=3 ZAISAHEIEZS ) (BX) 9,000 0 9,000
= 2,700
Al 6,300
402 SI2FXHE0| & 9,000 0 9,000
= 2,700
Al 6,300
01 QI2t X2 X 9,000 0 9,000
OB=E=E=SZANSAHESAHXEZAE  900,000& x10ha 9,000
o= 2,700
Al 6,300
A MXH 1,775,160 1,200,554 574,606
J| 328,610
= 368,918
Al 1,077,632
FSMAM R A 118,480 204,364 N 85,884
201 et | 4,680 5,024 N 344
01 AP 2t 2] H| 4,680 5,024 N 344
O1.B8t==H| 3,000
—S A LBt =2H| 3,000,000& 3,000
O5. 83 &H| 1,680
—SMIAMAL=A OI2LH22 L =4
7,000 *2H*10 12 1,680
202 044l 1,800 3,240 A 1,440
01 2L Y| 1,800 3,240 AN 1,440
ZAIM 2 O]
60,000 2% 32 %53 1,800
301 et A= 42,600 43,200 A 600
10 HALAHI B A2 480 1,080 A 600
OFMAM Jlsws EM&=IF 04l
60,000 8 480
12 JIEtE2 & =2 42,120 42,120 0
OBNE 85488 R0 N
1,500 x6CH *18¢ =260 42,120
402 SI2vXHE0| ™ 69,400 152,900 A 83,500
01 QI2tXE8 X 69,400 152,900 A 83,500
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SH: sYIlE M
o B4 FWY o(SHYLA/5 - 5E)

= - 4 14
K- BB o9 (30) - NIRA - B2 0f & o4 e 2
OYsIt %8 MEMN X&
40,0003 =800 *50/100 16,000
O2=s¢t2 TN K&
800 40,0004 60/ 100 19,200
O2AH=sIH 2&EE #EI XA
4,000,000 *3CH*50/100 6,000
ORANEE HHXI 40,0002 *3005 *60/100 7,200
oY=t =&8&) E&J| XA
900,000 *10CH =60/ 100 5,400
OHZ AMHel Al (H=DI])
13,000,000 *2CH 60/ 100 15,600
R BEME(EX) 1,400 910 490
= 420
Al 980
307 giz2+ol & 1,400 910 490
= 420
Al 980
02 It A8 X 1,400 910 490
Oz ZEAH 2,000& *1,0005 +70/100 1,400
< 420
Al 980
LsENBAL(EX) 14,500 13,920 580
== 4,350
Al 10,150
301 et a3 14,500 13,920 580
< 4,350
Al 10,150
12 JIEtE2 &3 14,500 13,920 580
ORLASEY HEAMY 58,000& *2505 14,500
= 4,350
Al 10,150
ASIRMAUOBFZHAALERF(EX) 30,000 23,340 6,660
= 9,000
Al 21,000
307 2Iz2t0ol A 30,000 23,340 6,660
= 9,000
Al 21,000
02 QIZtA A8 X 30,000 23,340 6,660
OBAHSMMOASTHA AN TS
30,000& 1,000 30,000
= 9,000
Al 21,000
WRRSAXE(BX) 560,500 554,426 6,074
| 280,250
< 56,050
Al 224,200
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AN sg€II=4dH
HE: BN WY S (SPHSLN/5Y - 55)
Sl BN M CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 560,500 554,426 6,074
J| 280,250
< 56,050
Al 224,200
02 QIZtF B X 560,500 554,426 6,074
OgtuesasAX 560,500,000 560,500
J| 280,250
< 56,050
Al 224,200
stegastg AR (Ex) 853,660 215,094 638,566
< 256,120
Al 597,540
307 21201 A 853,660 215,094 638,566
< 256,120
Al 597,540
02 22t a2 X 853,660 215,094 638,566
Ostega stugAXA 853,660,000& 853,660
< 256,120
Al 597,540
SMSOISM(HEZEH)N(EX) 96,720 93,240 3,480
J| 48,360
= 14,508
Al 33,852
307 glz2tol & 96,720 93,240 3,480
J| 48,360
< 14,508
Al 33,852
02 RIZHE A E X 96,720 93,240 3,480
O=MS0/8H X (HEERY])
9,300& *10,400% 96,720
J| 48,360
< 14,508
Al 33,852
SSIIRMASE(EX) 45,000 45,360 A 360
< 13,500
Al 31,500
402 BI2FX=20| M 45,000 45,360 A 360
< 13,500
Al 31,500
01 RIZEAI=2E X 45,000 45,360 A 360
O2sd2I XI& 15,000,000& *5JH4 £ *60/100 45,000
< 13,500
Al 31,500
MDIOIAZHHMASHI R (EX) 18,900 18,900 0
< 5,670
Al 13,230
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2N
X ZH -
L= B

el

| &
A A SYHL /5 - 5E)

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 18,900 18,900 0
< 5,670
Al 13,230
02 QI2tFAB X 18,900 18,900 0
OHDII0IZ K P CIE X &
18,900,000& »1H 18,900
< 5,670
Al 13,230
MSHHEISZHIXNA(EX) 21,000 21,000 0
< 6,300
Al 14,700
402 RIZ2EX201 A 21,000 21,000 0
< 6,300
Al 14,700
01 RIZERt2E X 21,000 21,000 0
OMSHHE NBZEI| XL
3,000,000 =10CH*70/100 21,000
< 6,300
Al 14,700
SUSAHSTHEMII(EX) 15,000 10,000 5,000
S 3,000
Al 12,000
201 Yete | 15,000 10,000 5,000
= 3,000
Al 12,000
03 A2 Z Hl 15,000 10,000 5,000
OFUSAHSIHA X 15,000, 000 & 15,000
= 3,000
Al 12,000
=Y AX A 1,687,524 2,895,318 A 1,207,794
= 680,242
J| 58,115
< 190,640
Al 758,527
HELANYRY 375,988 282,856 93,132
201 LBt 24,968 26,596 N 1,628
01 At 22l 10,772 12,520 A1,748
O1.28t=EH| 4,000
—SE2E3 Ltt+=ZHl 2,000,000 2,000
STHY 2 JtEge EEE2 ME
2,000,000& 2,000
Ob5.= &l 2,772
OlsgoYeEd 22X 24
7,0003 «3E« 112 +128 2,772
O6.2xt=z 4,000
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2AMH: 590
==,

N2 a3 2 2oL/ s - sF)
SER EE P (S &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
-JIs MY HAS S22 240 92
400,000 *103] 4,000
02 Z2=2=2494| 14,196 14,076 120
O1.2Z22=a2L Al 2,360
SIEYHYE2ISgEREE SUE AISE2
80,000& x12& 960
22 2 B 700, 000& *2CH 1,400
O3. A& & HI KX HI 1,200
- Eg A MY S X2l 200, 000& *x2CH *33] 1,200
O4. Xt BHH| 10,636
—EXR (SR 5,318,000 =2CH 10,636
202 o4 | 3,000 4,560 A 1,560
01 2Ll 3,000 4,560 A 1,560
OJsed g2=X0|
60,0003 »2H *»3 53] 1,800
OBZYAL0A YABS ZX 0|
20,0003 x 1Y +x5L x 128 1,200
206 M EHl 62,000 21,100 40,900
01 XHZ Hl 62,000 21,100 40,900
O - R40E HE22F2 427
50,000& *5&*61 Ot =2 1,500
OYHASSY 2 $HB ASAE 7
4,200€ *5005 *33| 6,300
OJisety =8 9 I 2
1,300,000& 23] 2,600
O%AM IIEHAY YA MM3 P
4,000 *2,000% 8,000
OSEUAM=EE =2 MEHdl 12,0008 x3,3005 39,600
OS=ESE 4T 2H) 2y
400,000 ~10CH 4,000
301 et A= 269,020 220,100 48,920
10 HAFAHI B a2 1,020 2,100 A 1,080
OJsetg9us FA&zsIF O] 60,000 *x17H 1,020
12 J|EtE A3 268,000 218,000 50,000
OAHIZ£2 =% 800,000& x5 x12& 48,000
OJIsdEY Xchxeldl 30,000& 1505 4,500
B4 HAIEAH| 5,000€ *10,0005% 50,000
OZ21DA0l 543 == X 150,000 *1505 22,500
ORI sS=SEEH| 35,000& =1,0000} 2] 35,000
Otigls2 A= X228l 4,000& 9000} 2|30 108,000
402 SI2FXHE0| & 9,000 10,500 A 1,500
01 Q228 X 9,000 10,500 A 1,500
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2N
X ZH -
L= B

el

Off &t 24

=

i
2m

st 2=3FHl XN

500,000 *30CH =60/ 100

9,000

8,000

8,000

8,000,000& «1CH

8,000
8,000

8,000

=z N H

342,891
223,357
59,767
59,767

369,639

N26,748

206

=z MW

211,407
140,215
35,596
35,596

181,949

29,458

01

211,407,000&

= M W

211,407
211,407

140,215
35,596
35,596

181,949

29,458

402

= M W

131,484
83,142
24,171
24,171

187,690

A 56,206

01

= Hn

It
2,000& *87,0005 *50/100

Z MW

131,484

44,484
22,242
11,121
11,121

87,000
60,900
13,050
13,050

187,690

N 56,206

N
Jn
M
Mo

02

o~

Al

51,702
25,851

7,755
18,096

37,600

14,102

Jl|

t

Al

51,702
25,851

7,755
18,096

37,600

14,102

2R 2SEHXE 51,702,000& « 14!

J|

=

51,702

51,702
25,851

7,755
18,096

37,600

14,102

64,528

63,428

1,100
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2AMH: 590
==,

g 2 A ot/ sd - sE)
el DS (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
J| 32,264
< 9,679
Al 22,585
206 M= Hl 64,528 63,428 1,100
J| 32,264
< 9,679
Al 22,585
01 MHZ 4l 64,528 63,428 1,100
OZ2s2d MY M=K 64,528,000& » 14! 64,528
J| 32,264
< 9,679
Al 22,585
Hds=Es MY 27,000 40,000 A 13,000
301 LB A F 15,000 30,000 A 15,000
12 JIEtE& = 15,000 30,000 A 15,000
OtdES=E &l 15,000,000& 15,000
307 glz2tol & 12,000 10,000 2,000
01 2222l 12,000 10,000 2,000
ORNOMES 22 U FRY
200, 000& =600t 2/ 12,000
LAE2MEMELH (2 0]) 67,410 88,900 A 21,490
= 20,223
< 14,156
Al 33,031
301 gt L= 67,410 88,900 A 21,490
= 20,223
< 14,156
Al 33,031
12 JIEBHE4 3 67,410 88,900 A 21,490
OAxEZ4detY MW 7,000 9,630 67,410
= 20,223
< 14,156
Al 33,031
THASYAML(EX) 27,640 27,640 0
< 8,292
Al 19,348
206 M= Hl 27,640 27,640 0
< 8,292
Al 19,348
01 MHZ 8l 27,640 27,640 0
Oaxsss ¥ 10,000& =1,600% 16,000
S 4,800
Al 11,200
oggs 2¢ 6,000& *1,940 11,640
< 3,492
Al 8,148
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2N
X ZH -
L= B

el

SA-EB . G(EH) -

HSAS - BE =

Off &t 24

=

i
2m

LAZHIRNFMS (LS

=}

FH)(2%)

= Hn W

40,000
20,000

6,000
14,000

10,000

206 M= Hl

= N H

40,000
20,000

6,000
14,000

10,000

30,000

01 = dl

OAsEH N&

40,000, 000 = 1CH

= N W

40,000

40,000
20,000

6,000
14,000

10,000

30,000

Al

33,980

10,194
23,786

34,450

NA4T0

Al

33,980

10,194
23,786

34,450

ANAT0

detd MEd N2

OULEE Al=HIX&

7,000& 1,430

3,000& *7,990

n

Al

H

Al

33,980
10,010
3,003
7,007
23,970
7,191
16,779

34,450

A470

H

Al

28,800

11,520
17,280

28,800

= M

28,800

11,520
17,280

28,800

800,000 x3H x12&

= M

28,800
28,800

11,520
17,280

28,800

ASANETZAS (EX)

H

Al

22,050

6,615
156,435

40,880

A 18,830

402 QI2tXt=01

t

Al

22,050

6,615
15,435

24,500

A2,450

O
S

<
e
N
>
i
H
M

™
1o

HHELASAE KR

3,500, 000& 91 2 +70/100

t

22,050

22,050
6,615

24,500

A 2,450




S ERX=D
o su

SE R ST CERED

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

| Al 15,435

HRL2HES WX (EX) 6,000 0 6,000
3,000

900
2,100

= MW

402 212t Xr=01 & 6,000 0 6,000
3,000

900
2,100

= MW

[m]

01 2I2tXt

= DAEN

e
b H

x 6,000 0 6,000
HEENE N

10,000, 000%! *14!x60/ 100 6,000
3,000
900
2,100

iy

O

= M W

IISHYHSAXNJASE (EX) 50,005 41,325 8,680

15,001
35,004

= M

206 M= Hl 50,005 41,325 8,680

15,001
35,004

= M

01 = dl 50,005 41,325 8,680
OSOtAIEAYE olZAs F2(1,230F)
14,146,000 14,146

4,244
9,902

= N

O
>
fol
(]

=

w©

BAL F2(1,920%)

7,680,000& 7,680
2,304
Al 5,376

H

O% 2223 LS (1808 4)

1,800, 0002 1,800
540
1,260

= H

OSHXIPED HYAS 2 (1,3305)

3,990,000& 3,990
197
Al 2,793

H

ORARYEY 0lYWA 2 (480F)

5,760, 0002 5,760
1,728
Al 4,032

H

OZHS0h OlLFE 72 (6,3102)

6,310,000 6,310
1,893
4,417

=

OBE LMoY olgas 72(6,3102)
5,111,000& 5,111
1,533

H
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2N
X ZH -
L= B

el

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

OYXNSEINEY olgesl 2 (1,8605)
5,208,000

Al

= M

3,578

5,208
1,562
3,646

HMAAEYAJSHAA(ER)

= M

19,266

5,780
13,486

19,800

A 534

206 M= Hl

= M

19,266

5,780
13,486

19,800

A534

01 M= dl

OBMMAEY ARSI N K& 165& x 116,760

= N

19,266

19,266

5,780
13,486

19,800

A 534

i
bl
AL
HT
0z
oy
=
o
H
FA

=z M H

500,000
400,000
30,000
70,000

1,810,000

A1,310,000

=z N W

500,000
400,000
30,000
70,000

1,810,000

1,310,000

500,000, 000&

= M W

500,000
500,000

400,000
30,000
70,000

1,810,000

21,310,000

= M W

27,324
13,662
4,099
9,563

27,324

= M W

27,324
13,662
4,099
9,563

27,324

118,800& »4604) *50/100

= 0N

27,324

27,324
13,662
4,099
9,563

27,324

ZERIITMXKA(EX)

= M

2,940

882
2,058

2,940

402 BI2HX=01 M

m

2,940
882

2,940
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2AMH: 590
==,

N2 a3 2 2oL/ s - sF)
SER EE P (S &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 2,058
01 QI2tXE8 X 2,940 0 2,940
OZFIJIUA 2LXX 30,0002 *14004+«70/100 2,940
& 882
Al 2,058
HAHSHAY| (SAM)(IIEH/DJIE 75,283 84,509 N9,226
Pl A Y| (= AL} 31,433 30,029 1,404
Aol (S4) 11,717 11,717 0
101 e1214| 11,717 11,717 0
02 JIEtE 2 % 11,717 11,717 0
OZEZYS 49N 2U224Y
5,439% x1H «60A| 2t 12 3,917
OZ2TYUIA LA €SS 50,0008 *x1H~128 600
OZEZYALAN YABE Foiag
600,000& x1H ~12& 7,200
SEAESAH (S} 19,716 18,312 1,404
101 124 H| 19,716 18,312 1,404
03 RIAHEZZXHE = 19,716 18,312 1,404
OFMEXe & I=s)|sedd 19,716
-JIE23 36,6403 »1H x313L 11,469
0 = 11,469,000 »1H x1/12%300% 2,868
-HE S| 11,469,000 12 x1/12%120% 1,147
-dHZAH| 80,000& x1H ~12& 960
-JIEx4 60,000 x1H x12& 720
-=5 Y 36,6403 x1&H x52 1,906
-HAXE=E 36,6403 x1H x15L 550
-d3Z2sY 11,469,000 * 1 x1/12%5%*23] 96
Jl2Zdl (sS4 43,850 54,480 A 10,630
SEN2IHI (=41 3,890 8,920 A5,030
201 et 9| 3,890 8,920 A5,030
01 AP 2t 2] H| 3,410 8,440 A5,030
OFNMSY LBt=2H| 3,410,000 3,410
02 =224 H| 480 480 0
OBMEYd 22232 480,000 480
A= H| (=AD) 36,960 36,960 0
202 044 36,960 36,960 0
01 2L Hl 36,960 36,960 0
OFRIYRF=A0NH| 20,0003 x 14«11 x12& 36,960
AR =ZXH| (AL 3,000 3,000 0
203 €2 F=&d| 3,000 3,000 0
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2N

SIS dH

M HHE2H AU (S (JIEH/IIE)
¢elr J2dHI (541 )
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o e 2
04 NI 3,000 3,000 0
ORNSYLLETY (YR :13Y)
250,000 128 3,000
s =23 (sgddgad/=sg - &) 3,770,288 5,294,279 A 1,523,991
= 279,014
& 240,000
< 91,950
Al 3,159,324
sEZ WY 4o JsAY 2,522,023 2,752,188 A 230,165
AesBlleE2s 1,308,434 1,356,082 ANAT 648
101 14 Hl 24,755 23,430 1,325
04 JIZHHZ2XREE S 24,755 23,430 1,325
OH Halls tzx 2,597
v ral:] 38,8803 «6H 122 2,333
-“AHEE J&2RE3 2,333,000&*11.3% 264
OEZdEFEX 8,655
-4 | 38,880 x2H 100 7,776
-AHEE JI2RE3 7,776,000& %11.3% 879
o4 SHaela el 2,597
-4 | 38,880 x 1 +60 2,333
-AHEE JI22RE3 2,333,000& *11.3% 264
O LN 10,906
i ral:] 38,880& x14H 18 9,798
-AHEE J|2RE3 9,798,000& *11.3% 1,108
201 L2l 237,000 221,410 15,590
01 AtS =2l bl 231,000 220,060 10,940
Ob.= &l 4,200
-NEEE T U2 =4
7,0003 x5 <102 122 4,200
O6.8xt=z 226,800
-H EoiE S3EM €I gz
42,000& *5,400hax 13l 226,800
02 =224l 6,000 1,350 4,650
O3. A& & Hl 7 X bl 6,000
- A BAINH KABI(ICPR 4F)
1,500, 000 *4CH 6,000
202 4l 5,400 5,400 0
01 S LHOIYI 5,400 5,400 0
OMJIIsE2S ¥ st= MOILE 4 0dl
60,000 *5H 32 63| 5,400
206 M= Hl 14,400 14,400 0
01 MHZ 4l 14,400 14,400 0
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AN sg€II=4dH
M g J=E3(sgdgddt/=g - &)
SRl SEIWY B Y (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=2dois &M M= 400,000& *10ha 4,000
ObsAt ZEXH SSHE M=
250,000& *10ha*2H A 5,000
OXSZtY 2z ¢ 20,000& »20& 400
OSEIFA MY 2 HE 100,000 x20& 2,000
o 2l AleF 2 MHE 300,000 105 3,000
301 et d = 98,280 85,100 13,180
10 dAHAHIEAZ 4,780 3,150 1,630
OXSEF20F =g s
60,0003 «20H 23] 2,400
OH Holls 32 M ALt F4
7,000 «20H <173 2,380
12JEEd= 93,500 81,950 11,550
Ol F3RES3E IS 8,500 11,000 93,500
402 RIZ2EXt20l ™ 928,599 1,001,342 AT2,743
01 RIZERI 22X 928,599 1,001,342 AT2,743
OHSBASUCSH MM 4
858,000 *465ha*70/100 279,279
OFM 2518 ZTME B MaAY
1,500,0002 *10ha*2JH 2«60/ 100 18,000
OLNSE 0l MaEX =4
250, 000& *3F *50ha*2IH £ *60/ 100 45,000
Obf MW SIHSZ2AXN) MM X
200,000& =3, 100ha*60/100 372,000
Ol dolls g32M 22 X
40,000& *5,358hax 13l 214,320
LASERE JsES 596,335 800, 288 A~ 203,953
101 @124 dl 3,031 3,482 A 451
04 12t Z2XEES 3,031 3,482 A 451
OBJZ2d 29 oAy
38,880& x20 A+ 1H 152 1,167
Oty SEZA Q2] 38,880 *4H x102 1,556
OC4liE" JI2RES 2,723,000& *11.3% 308
201 ¢er24| 3,680 18,016 A 14,336
01 At 22l 3,680 18,016 A 14,336
O1.det==2Hl 2,000
-ASAF It ¥ g2 MZE 2,000,000 2,000
O5.2&Hl 1,680
SASHE FA2LX 24
7,000 «2H 10«12 1,680
206 M= Hl 2,000 23,200 A 21,200
01 M2 4l 2,000 23,200 221,200
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AN sg€II=4dH
M g J=E3(sgdgddt/=g - &)
Sl SEFMW B IS AY CEEEED
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O 2¢ 29 M=l
50,0003 *10Z #4 4 & 2,000
301 LBtE A= 2,700 3,450 AT750
10 #ALAHIZ A3 2,700 3,450 AT750
OALSXS Hotgl #24X Hul(E - 5L =)
60,0003 *3H «53] 900
OASH=SE20F s =0
60,000& *15H *23] 1,800
402 RI2HX=201 M 584,924 742,140 A 157,216
01 RIZEAI2E X 584,924 742,140 A 157,216
Osct EZEM AXNEGH HEAIE
73,500, 000& *1JH 2 +60/100 44,100
Ox&d = MHeXl =4
55,400,000& = 1JH 260/ 100 33,240
OHE & WA ALUE THUHALS
40,000, 000& *2ha*60/100 48,000
ODYRX E0LE LHTHEE AIHALS 112,000
- B Al - 10,000,000 *3J 2~ +70/100 21,000
SR & SSAIE
13,000& %10,000m" x70/100 91,000
oolttel =JIME &X s4
30,000, 000& *5JH 2«60/ 100 90,000
OFIl, &t &4Z)| HE3 AMEML(REE
L M) 68,630 *30E *25ha*60/ 100 30,884
OJlsd ZEZ22clA AL MAAY
25,0003 » 144 *33| *80ha*70/100 58,800
OZME AtA ZHAH
50,000, 000& *3.5ha*50/100 87,500
OAtDE JHEDl S&toll CHE ALY 80,400
-Z2II2 67,000 *1,0007H =60/ 100 40,200
-S4 50,000& «800=**60/100 24,000
—==| 900,000& *30CH %60/ 100 16,200
sZZLES JsE= 349,861 380,024 230,163
101 @124l 21,637 20,480 1,157
04 JI12ZtHZ22HEE = 21,637 20,480 1,157
ORE0I4==M 21,637
-] 38,8803 x2H 250 19,440
-AHEE JI2RE3 19,440,000& *11.3% 2,197
201 £B-2d| 23,044 8,844 14,200
01 At 22l 18,044 7,344 10,700
O1.eet==&H| 16,300
-sglldsE g2 500& +5,0000H 2,500
-S20ME USNHZE HMH 3,000, 000& 3,000
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AN sg€II=4dH
M g J=E3(sgdgddt/=g - &)
Sl SEFMW B IS AY CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
-ElldE=NEESE d224 22 =2
1,200,000 43 4,800
“EAL HIZAIE BE 2L EH=8
6,000,000 » 14! 6,000
O3.2d=¢ 400
-0ld=2 M2IF =22 A
100,000& »2H #2A| 2t 400
O5.2 &l 1,344
CEUARSA JSHT OFA2DN SA
7,0003 x2H «8L x 128 1,344
02 =224l 5,000 1,500 3,500
O3. A€ ZHI =Xl 5,000
-AHAIE 2 FHI KX 5,000,000 5,000
202 Oddl 4,500 4,800 A 300
01 = LHA YI 4,500 4,800 A 300
SUAALH U HLAREF O/
60,0003 *5&H #31t & 53| 4,500
206 M= Hl 127,500 127,500 0
01 =8l 127,500 127,500 0
Oz ezgsstaels 29 Mz 127,500
-RE042 ZHE X7
100, 000& *3Z *300kg 90,000
“SEAISE R WE 100,000& *25& 153 37,500
301 et A3z 2,160 1,400 760
10 #ALAHIEAZ 2,160 1,400 760
OZgE4s nu=s FAI 0l
60,0003 x12H+3& 2,160
402 RI2HXt20l ™ 170,520 217,000 A 46,480
01 2I2tR2E X 170,520 217,000 A 46,480
ORLUE0E NHLSAIZ ZHAIEY
6,500, 000& 20CH =60/ 100 78,000
OEAMIl EA ZG Tlolole SZMAAE
10,000,000 1070 2 x60/ 100 60,000
OLEs=sge & SZ2ESAY
1,080, 000% *30% *60/100 19,440
OZXE LEDS 012 JI=dls mlalolgy Al
1,090, 000% 205 *60/100 13,080
405 TtHakF S| 500 0 500
01 AL EFH S 500 0 500
OblMSHH A TA&8L=I] 2L
500, 000 1CH 500
sglls LS 267,393 215,794 51,599
101 14l 149,502 101,823 47,679
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SN s EHE
M g J=E3(sgdgddt/=g - &)
SRl SEIWY B Y (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-S4 2 Hitsa AlE : Xl
300, 000& »5CH 1,500
-HOtsA 220 =52H =4
500, 000& »2CH 1,000
-AUsIIH SHOIXN SXE=
80,000& »12& 960
206 M= Hl 50,000 52,000 A 2,000
01 =4l 50,000 52,000 A2,000
OdSsZE2E M=+ 60,0008 «105+152] 9,000
ORF=MEE =<, HE ¥ EH 7Y
20,000 *300 X 23] 12,000
OANE =28 Z3H(I3h)ds a7y
10,000& *1,000= 10,000
O=3HtH otRA SIIEX 1,000,000 6= 6,000
CHIDIZ3Z=H Mg+ 9,000
-xd 200,000& 108 2,000
-A2Z8 WM& 10,000& »10& *203! 2,000
-=3ts4 ELHE OHAE 5,000,000 5,000
OsJIAesl=el 23 & SUsIH M2
20,0002 x100& 2,000
OEZ2AE HE X= MolZ WA
2,000,000 2,000
405 XtatE SHI 3,400 0 3,400
01 HatH ESFH S 3,400 0 3,400
OUZSE RN SHLHI 2
1,400,000 »10CH 1,400
ORHXza dx 2¢ 2,000, 000 *1CH 2,000
FASEA JsEa 351,300 599,322 A 248,022
< 91,950
Al 259,350
MSZMEANI=LS(EX) 5,000 5,002 A2
< 1,500
Al 3,500
206 M= Hl 4,048 4,050 A2
< 1,214
Al 2,834
01 M= 4l 4,048 4,050 A2
OMEAIIzns M7
22,0003 «46H 43 4,048
= 1,214
Al 2,834
301 et d = 952 952 0
< 286
Al 666
10 #ALAHIE A3 952 952 0
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AN seIIsHE

M g J=E3(sgdgddt/=g - &)
©°e ShASEY J=Es EERE=E))
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OMeNIIzns sS4 7,000 3«68 +23] 952
< 286
Al 666
ANEANZE L0 ME0EANE(ER) 16,000 0 16,000
= 4,800
Al 11,200
402 RIZEXtE0| A 16,000 0 16,000
< 4,800
Al 11,200
01 IZERI 22X 16,000 0 16,000
ONEHOZE S0 HS0/ S A
20,000,000 = 1JH 2 +80/100 16,000
= 4,800
Al 11,200
DIMSOISSAAFHMLANE(EX) 8,000 0 8,000
< 2,400
Al 5,600
402 RIZEXtE0| A 8,000 0 8,000
< 2,400
Al 5,600
01 QIZERI2 EX 8,000 0 8,000
ONME0NEFZALFHNMZAIY
10,000, 000& *1JH 2 *80/100 8,000
< 2,400
Al 5,600
DEZESNMBSEIZL(BER) 10,000 10,000 0
< 3,000
Al 7,000
402 RIZEXtE0| A 10,000 10,000 0
< 3,000
Al 7,000
01 QIZERI 22X 10,000 10,000 0
OLBEETN WEE =4&AHE
10,000,000 * 14 A 10,000
< 3,000
Al 7,000
MEHESS 0|88 AHP MEAAN(2X) 5,000 25,000 20,000
= 1,500
Al 3,500
402 RIZ2EX20l A 5,000 25,000 220,000
< 1,500
Al 3,500
01 RIZEAt2EX 5,000 25,000 220,000
OMZH LSS 088 ABY ME22l AY
5,000,000 » 104 2 5,000
< 1,500
Al 3,500




2N

SIS dH

M g J=E3(sgdgddt/=g - &)
Sel: sIASEHY J|E23 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
NS LALHMAIE(EX) 9,600 9,600 0
< 2,880
Al 6,720
402 RI2EX=20| M 9,600 9,600 0
= 2,880
Al 6,720
01 RIZERt2E X 9,600 9,600 0
OL=UHF RULM AlE
12,000, 000% *1JH 2 +80/100 9,600
= 2,880
Al 6,720
IISASY 22025 HH2S MY (2X) 2,400 1,920 480
< 720
Al 1,680
206 M= Hl 2,400 0 2,400
< 720
Al 1,680
01 M= 4l 2,400 0 2,400
OJlz¥sd =033 &UHE=S M=l
8,000& *300=F 2,400
= 720
Al 1,680
OIAIISHSALDIHZ AT MA(RE) 13,000 13,000 0
= 3,900
Al 9,100
402 2I2H X201 M 13,000 13,000 0
< 3,900
Al 9,100
01 RIZEAI=2E X 13,000 13,000 0
OOIMJIZEUS NELHE HEHMA Al
13,000, 000& *17H A& 13,000
< 3,900
Al 9,100
SRS LIZEHURZS A (X)) 3,000 4,800 £1,800
= 900
Al 2,100
206 T 24 3,000 0 3,000
= 900
Al 2,100
01 M= 4l 3,000 0 3,000
OJlggdsd 2JI53 2UHEsAE HEH
300& +10,000=F 3,000
S 900
Al 2,100
DB DENEHYEMMAIL(BX) 7,000 13,000 6,000
= 2,100
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fAM: sgIlsdH
i =9 Jag
(=R B o g X

Sl SItASHA JlERE

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
Al 4,900
402 SI2F 20| & 7,000 13,000 A6,000
< 2,100
Al 4,900
01 Q228 X 7,000 13,000 A 6,000
OSBADEER EBSE MAAY
10,000, 000 10 A %70/100 7,000
= 2,100
Al 4,900
I DEZR A MA AB(EX) 50,000 0 50,000
& 15,000
Al 35,000
402 SI2FXHE0| & 50,000 0 50,000
& 15,000
Al 35,000
01 Q228 X 50,000 0 50,000
OXNSE 2 MAAY 50,000,000 * 100 £ 50,000
= 15,000
Al 35,000
HolsS 2 OIS 4& MHeldls A (EX) 10,000 0 10,000
= 3,000
Al 7,000
402 SI2vXHE0| ™ 10,000 0 10,000
= 3,000
Al 7,000
01 812t X 10,000 0 10,000
Odols2H MESaXe =AY
10,000, 000& *1JH 2 10,000
= 3,000
Al 7,000
2oty SEHEBSYRAIE(EX) 20,000 0 20,000
o=} 6,000
Al 14,000
402 SI2F X0l ™ 20,000 0 20,000
= 6,000
Al 14,000
01 QI2tXEE X 20,000 0 20,000
Osgoled s8essUHAY
20,000,000 *1J0 & 20,000
o=} 6,000
Al 14,000
A EEEEEEN T NEIEES 68.800 0 68,800
= 7,200
Al 61,600
402 12t XHE0| & 68,800 0 68,800
& 7,200
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2N

SIS dH

B =9 J2R(SUHLSM/SY - 5&)
2 sItasggy Iz (&)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
Al 61,600
01 RIZERt 22X 68,800 68,800
OXl el St B Al 21,500, 000& *4ha*80/100 68,800
= 7,200
Al 61,600
DA SHEILA X ESANE(2X) 4,000 4,000
< 1,200
Al 2,800
402 QI2H X201 M 4,000 4,000
< 1,200
Al 2,800
01 BIZEAt=2 82 X 4,000 4,000
Ont==CtHILIA XI= 22 Al
5,000,000 =1 2~ *80/100 4,000
< 1,200
Al 2,800
CEGRA SUUYHE HUXRY AL (2X) 16,000 16,000
< 4,800
Al 11,200
402 RI2HXt20l 16,000 16,000
< 4,800
Al 11,200
01 2I2tX2E X 16,000 16,000
OHSotRA ZSHUHENE HUXNEBZAIEY
20,000,000 = 1J1 2~ +80/100 16,000
< 4,800
Al 11,200
NRSH INZ NES B2(2X) 40,000 40,000
< 12,000
Al 28,000
402 RI2tX20l ™ 40,000 40,000
< 12,000
Al 28,000
01 2I2tR2E X 40,000 40,000
ONDSH ZAR MNEE 22
50,000,000 =1 2~ *80/100 40,000
< 12,000
Al 28,000
R KHASH ASHE Al (2X) 8,000 8,000
< 2,400
Al 5,600
402 RI2HXt20l ™ 8,000 8,000
< 2,400
Al 5,600
01 RIZERI 22X 8,000 8,000
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2N
X ZH -
L= B

el

SIS dH

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SEI T EREYTINE
10,000, 000% = 1JH 2~ +80/ 100 8,000
< 2,400
Al 5,600
SRUBXIII =¥ AL (2E) 10,000 0 10,000
< 3,000
Al 7,000
402 RIZEX20l A 10,000 0 10,000
< 3,000
Al 7,000
01 RIZEAt2E X 10,000 0 10,000
O<clZX3IIJ SEAZ 10,000,000 * 10 2 10,000
< 3,000
Al 7,000
SHElsIt =SIIBEHAE(BX) 40,000 0 40,000
< 12,000
Al 28,000
402 RIZ2tXt20l ™ 40,000 0 40,000
< 12,000
Al 28,000
01 QIZERI2 EX 40,000 0 40,000
OztsllsIt =&J|et X E A
50,000, 0002 *12H 2 *80/100 40,000
< 12,000
Al 28,000
SQIHDSEABLXNA(SE) 5,500 10,000 A 4,500
< 1,650
Al 3,850
405 TtabF S| 5,500 10,000 A 4,500
< 1,650
Al 3,850
01 AL EFHSHI 5,500 10,000 A 4,500
O==2Es 2 ZE 2 5,500,000 = 1CH 5,500
< 1,650
Al 3,850
Hesolls BHA4RS 896,965 1,942,769 A1,045,804
= 279,014
= 240,000
Al 377,951
SIHYISHBASS (2 E) 3,000 3,000 0
2 1,500
Al 1,500
201 2Bt | 900 0 900
= 450
Al 450
01 At 22/l 900 0 900
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AN sg€II=4dH
M g J=E3(sgdgddt/=g - &)
el Mesell 24P CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O1.€8t==&H| 900
-SHE ) =S FAUES N2 FL
5,000& 1805 900
2 450
Al 450
202 4l 2,100 3,000 2900
= 1,050
Al 1,050
01 = LHA YI 2,100 3,000 A 900
Ositadgas & BiXIotd ol
60,0003 x5H 7L 2,100
= 1,050
Al 1,050
SN2 ASITA EH(EX) 3,960 4,320 A 360
= 3,960
202 4l 1,320 1,440 A 120
= 1,320
01 = LH o4 1l 1,320 1,440 A 120
OsdtE8 2SI A Kl 20,0003 *33= *23] 1,320
= 1,320
301 gt 4= 2,640 2,880 A 240
= 2,640
12 JIEBHE4 S 2,640 2,880 A 240
OsdE8ALSXTAIsIE A2
40,0003 *33= *23] 2,640
= 2,640
eI =sT/H 2E(EX) 39,400 29,206 10,194
= 19,700
Al 19,700
101 @14 Hl 15,579 14,746 833
= 7,789
Al 7,790
04 JIZHHZ2XRHEE S 15,579 14,746 833
OFZEgZF4 29 olAHl 38,880 «3F 120 13,997
= 6,998
Al 6,999
C4liE" JI2RES 13,996,000& *11.3% 1,582
= 791
Al 791
201 Let49] 11,381 6,460 4,921
= 5,691
Al 5,690
01 At 22l 8,381 5,780 2,601
O1. Y=gl 8,381
-SEHEAY 29 A2F 2Y 381,000 381
= 191
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SH: sYIlE M
M g J=E3(sgdgddt/=g - &)
Sl Meselle BMRT (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 190
eI spAc|Y EES MAH
10,000& 5008 5,000
= 2,500
Al 2,500
JladEH 2 A28 2
100,000& x10& *33! 3,000
= 1,500
Al 1,500
02 2324l 3,000 680 2,320
O3. A& & Hl s Xt 3,000
-J|&&Hl AlEEHlI S X
100,000& x10& =33l 3,000
= 1,500
Al 1,500
202 04 Hl 1,440 0 1,440
=2 720
Al 720
01 =LHOIHI 1,440 0 1,440
OZEZZEEN T a4 ol
60,0003 «2H x12 1,440
= 720
Al 720
206 T 28 5,000 8,000 ~3,000
= 2,500
Al 2,500
01 =8l 5,000 8,000 A 3,000
OXEH ZNB2IA W27
50,000& *10&+102] 5,000
= 2,500
Al 2,500
405 XHoHF S HI 6,000 0 6,000
= 3,000
Al 3,000
01 HatL ESFH S 6,000 0 6,000
OAMSE 2¢ 6,000, 000 *1H 6,000
= 3,000
Al 3,000
NHSssAIl=N s ANV (2F) 10,039 10,035 4
2 5,000
Al 5,039
101 @124 dl 10,039 10,035 4
= 5,000
Al 5,039
04 JI2ZHHZ2XREES 10,039 10,035 4
O=Jt3dgm7=s o2l 10,039, 000& 10,039
= 5,000
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SH: sYIlE M
M g J=E3(sgdgddt/=g - &)
ol MRSl HMES CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Al 5,039
SIHHASEE0SI)IzsnsENA(EX) 1,500 1,500 0
2 750
Al 750
206 M= Hl 1,150 1,150 0
= 575
Al 575
01 =4l 1,150 1,150 0
O=sJIA8&EIzns a7
23,000& 50H 1,150
= 575
Al 575
301 et d = 350 350 0
= 175
Al 175
10 #AtAHIE A3 350 350 0
O=sJIAEE0EIzns =4 7,0008 50 350
=2 175
Al 175
JlsEETIIsES2YHEELI&(EXR) 100,000 0 100,000
= 50,000
Al 50,000
402 RIZEXtE0| A 100,000 0 100,000
= 50,000
Al 50,000
01 QIZEAI 22X 100,000 0 100,000
OH EZLMATHHHI I =S & A Y
50,000, 000 *2J4 &~ 100,000
= 50,000
Al 50,000
SMUESZEEMI=(EX) 150,000 0 150,000
= 75,000
Al 75,000
402 RIZ2EXt20l ™ 150,000 0 150,000
= 75,000
Al 75,000
01 RIZERI 22X 150,000 0 150,000
OstdAHE ALII=s ESAY
100,000,000 * 101 A 100,000
= 50,000
Al 50,000
OEZEY A2l AAH Jl=22Ad
50,000,000 14 &~ 50,000
= 25,000
Al 25,000
N =sHEHSAI (BEX) 342,857 330,000 12,857
& 240,000
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fAM: sgIlsdH
B =9 )22 (SYHLSM/5Y - 58)
Sel MRsells %423 CERED
5 - 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 102,857
201 et 3,000 1,000 2,000
& 2,100
Al 900
01 At 22l 8l 3,000 1,000 2,000
O1.€8=&H| 3,000
-HAUE2 EE22 ME 10,000& *300% 3,000
& 2,100
Al 900
206 M= Hl 4,077 0 4,077
& 2,854
Al 1,223
01 =8l 4,077 0 4,077
OseEs &d4&=2 2 4,0773 *1,000H 4,077
= 2,854
Al 1,223
301 L2 Az 5,780 3,800 1,980
& 4,046
Al 1,734
10 #ALAHIEAZ 5,780 3,800 1,980
OFYEHESHI Ld&X A 60,000& 80X 4,800
& 3,360
Al 1,440
OYLEHICT RS 24 7,0002! %1402 980
= 686
Al 294
402 RI2HXt20l M 330,000 325,200 4,800
= 231,000
Al 99,000
01 IZERI 22X 330,000 325,200 4,800
ogdE=s+4XN =4 165,000,000 *2H 2 330,000
& 231,000
Al 99,000
HolSSE I =N (EX) 18,701 0 18,701
= 9,350
Al 9,351
101 1244 dl 10,819 0 10,819
= 5,409
Al 5,410
04 JIZHHZ2XREES 10,819 0 10,819
OgiSHEEZLX, AHAR2H Q12|
38,8803 x2Y » 125 9,720
= 4,860
Al 4,860
O4UEd JI22E3 9,720,000& *11.3% 1,099
2 549
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A sgI=HH
B 59 )P (SN LN/5Y - 55)
e M2sgils SiEZ (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Al 550
201 gEt24H | 1,982 0 1,982
= 991
Al 991
01 AP 22| d| 982 0 982
O1.298t=2H| 982
-Hol SR SA HIIZ2 X2l 982,000 982
= 491
Al 491
02 Z2=2=24%4| 1,000 0 1,000
O3. Al & &H| S X bl 1,000
-Hol =& A& & H R X HI 1,000,000& 1,000
= 500
Al 500
206 T 2 bl 5,900 0 5,900
= 2,950
Al 2,950
01 X2 H| 5,900 0 5,900
OBlsd&EE A 2AHE 2L
100,000 x10=E *x23| 2,000
= 1,000
Al 1,000
OEFEZ2H M 390,000 x 100 A&~ 3,900
= 1,950
Al 1,950
ESESXNEI}ISANYE(BEX) 60,000 0 60,000
= 30,000
Al 30,000
402 12t X0l ™ 60,000 0 60,000
= 30,000
Al 30,000
01 QIZ2tXE8 X 60,000 0 60,000
OANMSXN 282 U SHSMAY
60,000,000 = 1JH & 60,000
= 30,000
Al 30,000
ADEIMMIS(RE) 167,508 0 167,508
= 83,754
Al 83,754
206 M = dl 10,800 0 10,800
= 5,400
Al 5,400
01 X2 bl 10,800 0 10,800
OEE ANAEZ BETZZ2E A 2
4,000& *15kg*308 A %63 10,800
= 5,400
Al 5,400
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C HE =BT
HE: 59 IR (SPHYLL/5Y - 55)
259l 223 (B9 ®R)

M- =8 .o (3H) - MBAY - BA2 0fl Ak o8 ﬁlf& HDS2
301 LptE A3 23,870 0 23,870
2 11,935
Al 11,935
10 BAFAIHI 24 2 23,870 0 23,870
OAL YD F4 0l 60,0002 +55% +73l 23,100
2 11,550
Al 11,550
OgZZE B3 ZA 7,0008! 552 +23] 770
2 385
Al 385
402 DI X201 B 132,838 0 132,838
2 66,419
Al 66,419
01 BIARHEEE 132,838 0 132,838
OBDZE Madla ANEEX S4
132,838, 0002 * 14 132,838
2 66,419
Al 66,419
BHSYPH (1223 D) (OIEH/IIE) 180,940 170,872 10,068
SYHOIs2S D) 125,430 116,642 8,783
Helzige (Ds23 ) 125,430 116,642 8,783
101 @121l 125,430 116,642 8,788
03 RIAA2 2R+ 125,430 116,642 8,783
OsJiH+e ¥ szugae 97,770
-le3 52,0002 +3% 3132 48,828
4013 16,276,000 *3 *1/125300% 12,207
- = £ 0H| 16,276, 0002 *3% *1/12%120% 4,883
x-EERL] 130,0008! *3% 12 4,680
iE4g 80,0002 x3% * 128 2,880
oI Xp g 52,0002 +3% x202 3.120
-Fg4dg 52,0002 x3% #5224 8,112
—280H4 3 52,0009 +3% 62 * 128 *50% 5,616
~H249 16,276,000 *3% 1/ 12+50%+23] 4,069
~2H AL H| 50,0002 +3% 128 1,800
-2l g 30,0002 «32 *128 1,080
-Toy e 130, 0008 *3% 390
~0H & 3} 35,0008 +32 105
O=2E 0142 Yy L EY=4 27,660
23 43,0002 12 313! 13,459
-4012 13,459,000 * 124 +1/12+300% 3,365
-2 8 S0t 13,459, 0002 12 *1/12%120% 1,346
s g 80,0002 +12 128 960
SSPYESE 43,0002 1% x242 1,032
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2N
X ZH -
L= B
el

(o
SA - - ERA(E) - NTAY - BES 0f o il Hl D52
202 04l 5,040 5,760 AT20
01 ZLHOHI 5,040 5,760 AT20
FSANIFL2FA 04l
60,0003 4B «3 »73| 5,040
402 212t Xt=01 564,000 258,500 305,500
01 l2tt=2e X 564,000 258,500 305,500
Os&s 20I0t3AS ZZMAH
145,000& *400E +50/100 29,000
OMPSNE +5XE XS
100,000, 000& *1CH =50/ 100 50,000
Ostt2 =FE=ES HHXH 77,000
-SctAE AL 5,500& »20,00074 x50/ 100 55,000
- E 45,000 *4002H x50/ 100 9,000
- XI A XF 26,000,000% = 1CH x50/100 13,000
OFI| &rED] ZEM X
700:& 150, 000K 60/ 100 63,000
OLZSAl HSRSAEE 45 & Eotsit
A& 600,000, 000& 14! x50/ 100 300,000
OFJl &) ds - 4310 NAAMY
3,000,000 =25CH «60/100 45,000
FTACH 2 71,924 7,700 64,224
301 LEE A Z 6,924 7,700 ANTT6
10 HALAHI 24 = 6,924 7,700 ATT6
O8N =SAEX W=F0Hl 60,000 10 *53 3,000
OXNgGSs M2 us 1,962,000 »2& 3,924
306 £ =3 65,000 0 65,000
01 243 65,000 0 65,000
O(M)Z=soiABsD 4y &0 293
65,000, 000& 65,000
FTAIS CEOZEIIBR2EXR (EX) 245,000 217,000 28,000
= 73,500
Al 171,500
402 QI2tXt= 01 & 245,000 217,000 28,000
= 73,500
Al 171,500
01 2t t=EE 245,000 217,000 28,000
OXN<S=g CEOZ DIt =X AL
175,000, 000& »2J £ +70/100 245,000
= 73,500
Al 171,500
SOAZEY sHSEFOOICIHAERR (EX) 28,000 14,000 14,000
= 8,400
Al 19,600
402 212t A= 01 & 28,000 14,000 14,000
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SN SIS HE
HH: zAE FSde(sZdddsd/=9 - &)
Sl RSN CERED
— SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
< 8,400
Al 19,600
01 QIZERI 22X 28,000 14,000 14,000
O=sgAI2e ) sHSEHO0ICIHAE XEAY
20,000, 0002 *2JH 2 *70/100 28,000
< 8,400
Al 19,600
FTAUIS DRIIssS8AE(BEX) 100,000 200,000 A 100,000
< 30,000
Al 70,000
402 RIZ2FRt20l ™ 100,000 200,000 A 100,000
< 30,000
Al 70,000
01 RIZEAI 22X 100,000 200,000 100,000
OFTAIS D8IJIe=ssS8AMd
200,000, 000& *1JH 2 *50/100 100,000
< 30,000
Al 70,000
SEMNERE 315,360 232,424 82,936
201 L2l 262,520 151,624 110,896
01 At 22l 194,520 97,624 96,896
O1.€8t+=&H| 184,000
-—SSENMERS et=EHI 4,000,000 4,000
CIHY AZZS 29| 40,000,000& 40,000
-ANE=sE4E AEMHM =2
30,000,000 30,000
-sEd=E 22 ME 10,000, 000& 10,000
-e0tAHE 243 100,000, 000 100,000
O5.=2 &l 2,520
—SEMUERSYR FA L2 RXN =4
7,0003 «3E«10L 122 2,520
O6.9xt=z 8,000
~SSA6S HE(ROHS AN AL XX
800,000& x103l 8,000
02 =224l 5,000 4,000 1,000
O1.3322LHA 1,000
-S3R2(REE, AHUYMESZ)
1,000, 000& 1,000
OZIPNE=Fal=:] 4,000
-AERSH 3,000,000& 3,000
-IEFH KX ¥ Y A2FH|
1,000, 000& 1,000
03 A2 S HI 63,000 50,000 13,000
OXZ=sSUNUE HATMNHAH(SLESH AH)
30,000,000& *90%<& 2> 27,000
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AN seIIsHE
= A

M SME QS (SYHSLN/5Y - 5E)
o9l REXE (29l 8)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OR+=sS4s APBHA(ZH EQENHNEH)
20,000,000 x90%<& 2> 18,000
OXOMEA ¥ HEAl HEHA A
20,000,000& *90%<& 2> 18,000
202 oddl 3,240 5,400 AN2,160
01 = LH o4 1l 3,240 5,400 A2,160
OsSHE REYL T
60,0003 *3H *3 63 3,240
206 M= Hl 10,000 10,000 0
01 =8l 10,000 10,000 0
O=sS¢t=2 228 MHz+d 10,000, 000 & 10,000
301 L2 A F 3,600 5,400 A 1,800
10 #ALAHIE A Z 3,600 5,400 21,800
O=E4= dASI SES A S0t AHIEY
60,0003 x3H x2 x103] 3,600
307 21201 A 36,000 60,000 A 24,000
04 QIZHSH AL = 36,000 60,000 224,000
O&JI &SI =H 20,000,0003 «90%<& 2> 18,000
OJIAH s3=H 20,000,000 x90%<& 2+ > 18,000
GAPQI B = M A HAHI K& (B X) 49,750 0 49,750
= 34,380
< 4,610
Al 10,760
307 glz2tol & 49,750 0 49,750
= 34,380
< 4,610
Al 10,760
02 QIZtF A8 X 49,750 0 49,750
OGAPQI S =0t t8d ZAHl K& A
50,000& *995= Dt 49,750
= 34,380
< 4,610
Al 10,760
SHNSSSRSAAHHINZ (EX) 2,800 0 2,800
< 800
Al 2,000
307 glz2+ol & 2,800 0 2,800
< 800
Al 2,000
02 RIZHE A E X 2,800 0 2,800
OstEEFTSSAAE BX O
4,000,000& %70/100 2,800
< 800
Al 2,000

_85_




AN sg€II=4dH
HE: SAE SSHl(sPHYLN/5Y - 58)
gel: KRS (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SUSAEES L AMALXNAMNS(EX) 250,000 0 250,000
< 75,000
Al 175,000
402 RI2EX=20| M 250,000 0 250,000
< 75,000
Al 175,000
01 RIZERt2E X 250,000 0 250,000
OsttsasZst & AMAELEX 2 ALY
500,000, 000% *1JH 2«50/ 100 250,000
< 75,000
Al 175,000
SANsESET2 A (EX) 20,000 0 20,000
< 6,000
Al 14,000
402 RI2EX=201 M 20,000 0 20,000
< 6,000
Al 14,000
01 RIZEAI=2E X 20,000 0 20,000
OZAN=sSZEXJAS 10,000,000 *20H A~ 20,000
= 6,000
Al 14,000
SAFMEEY 4,841,588 4,180,963 660,625
= 378,000
< 852,556
Al 3,611,032
SASAHIA 273,740 247,180 26,560
201 L2l 40,400 47,360 A 6,960
01 At 2t 2l 10,520 17,360 26,840
O1.2et==EH| 8,000
-—sABAY ESH(RM, o2, 8% S
) 6,000,000 6,000
-Nesaz 228 A ME 2,000,000 2,000
O5.2 &l 2,520
SSAE SUCEH AREX OFA22R I
7,0003 *3H 10 122 2,520
03 A2 S HI 29,880 30,000 A 120
OsAlSHY SEs S SAEI
2,000,000 *57 & Ml x23] 90%< & 2> 18,000
OLSELSEHIE LAIEZSH AL
1,100,000 & 123 «90%< & 2> 11,880
202 odl 13,240 14,320 A 1,080
01 = LH o4 1l 3,240 4,320 A 1,080
OsAlsSeY R
60,000 *3H »32 63| 3,240
03 =220l 10,000 10,000 0
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AN seIIsHE
= A

M SME QS (SYHSLN/5Y - 5E)
CHelr SABMASH (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OsAlESetY oA SEH AL &I I
2,500, 000& 2% *23| 10,000
206 M= Hl 5,000 20,000 A 15,000
01 =4l 5,000 20,000 A 15,000
OZEHAE AMAES 7 1,000,000& 53| 5,000
301 e A= 21,800 20,000 1,800
10 HALAHI 242 1,800 0 1,800
OSAE MASEs &HIN b2
60,000 *5H 32 23| 1,800
12JIE243 20,000 20,000 0
Ox=&=sS¢tsE =74 XA 20,000, 000& 20,000
307 glz2tol & 37,500 45,000 A7,500
02 RIZHE A E X 10,500 15,000 A 4,500
OSAZMY DHIMSHTS Ay
5,000% *7,00024 *30/100 10,500
04 QIZHSHALE = 27,000 30,000 A 3,000
Ol H=EIISE ™ X
30,000,000& «90%<& 2> 27,000
401 Al HIZ 201 I 20,000 30,000 A 10,000
04 A2t A Al &I 20,000 30,000 A 10,000
O=s4al3 MAEHMME X 20,000,000 * 14! 20,000
402 QIZ2EX20l ™ 135,800 38,000 97,800
01 RIZERI2E X 135,800 38,000 97,800
O=ZHIE AT X N2 MEAIE
A& 120,000, 0002 *60/ 100 72,000
O£ sASYM MW X&
40,000, 000& *60/100 24,000
O'Zgx' Xel&d HEA sEXNE
35,000,000& » 14! 35,000
OS4+4 JIBAE ZZH N
8,000, 000& *60/100 4,800
SENE SS4HE 245t 107,520 81,540 25,980
201 Let24E] 72,520 51,540 20,980
01 At 2t 2l 72,520 51,540 20,980
O1.det==2Hl 70,000
-sSN=E EsdHE g8 70,000,000& 70,000
03.2g8=¢ 2,520
“EHASSHE RENTRISIAE 294
= 70,000 x9H x4 3] 2,520
402 RIZEX20l A 35,000 30,000 5,000
01 RIZERt2EX 35,000 30,000 5,000
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2N

M SME QS (SYHSLN/5Y - 5E)
Sol SABNYSY EERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OsSttsE 2s8HE AEX XHE
70,000, 000% 50/ 100 35,000
UEsHE+E22TNS(SFH)(EX) 41,204 65,620 A24,416
= 8,241
Al 32,963
301 LEtE L= 41,204 65,620 A24,416
< 8,241
Al 32,963
12JEEd= 41,204 65,620 A24,416
Ol sitE2 ==2FHI 41,204,000& 41,204
< 8,241
Al 32,963
SAEIUHABEIA(EX) 35,000 40,000 A5,000
< 10,500
Al 24,500
307 21201 A 35,000 40,000 A5,000
< 10,500
Al 24,500
04 QItHALE & 35,000 40,000 A5,000
OSAZZUHABER 35,000,0008! 35,000
< 10,500
Al 24,500
SLLELFNSSHDNIA(RE) 2,453,884 2,425,043 28,841
= 736,165
Al 1,717,719
308 A EHHSOIA 2,453,884 2,425,043 28,841
< 736,165
Al 1,717,719
06 WSII20UHEt2x= 2,453,884 2,425,043 28,841
OBt DIA LAAWE UK
4,089,806,000% «60/100 2,453,884
< 736,165
Al 1,717,719
dERLSUSEHEZ N (BEX) 6,000 5,000 1,000
< 1,800
Al 4,200
402 2I2H X201 M 6,000 5,000 1,000
< 1,800
Al 4,200
01 2tz X 6,000 5,000 1,000
OZ=Rs=ssEBHES
12,000, 000& *50/100 6,000
< 1,800
Al 4,200
SESAESUCABAR D (2 E) 56,000 35,200 20,800
= 16,800
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2N

HH: zAE FSde(sZdddsd/=9 - &)
Sol SABNYSY EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 39,200
307 21201 A 56,000 0 56,000
< 16,800
Al 39,200
02 2ltF & E X 56,000 0 56,000
O+EsABSUC BT D
70,000, 0002 80/ 100 56,000
< 16,800
Al 39,200
LERS 605,740 609, 130 A 3,390
201 L4l 5,620 6,280 A 660
01 At 22l 5,620 6,280 A 660
O1.det=2Hl 1,500
-A2RS et H| 1,500,000& 1,500
O2.249=¢% 1,600
—LA2HUZAIR s+ 50,0003 *4H 82 1,600
O5.2&Hl 2,520
“YTRE ASLEZ OFA2LN 24
7,000 «3H 10«12 2,520
307 21201 A 90,720 0 90,720
02 2ltF & E X 90,720 0 90,720
ORI AIE XHX 2 (ZEH
1,296 *100,000kg 70/ 100 90,720
402 RIZEX20l A 509,400 602,850 A 93,450
01 RIZEAt2E X 509,400 602,850 A 93,450
ODIRBEH2IE AXL22
150,000, 0003 *4JH 2~ x50/ 100 300,000
O#0IJtEJ1I1 X3 A
5,500, 000& = 10CH*60/ 100 33,000
OHAoE PPEN ¥ EHXEA 56,400
-PP ZCH 800& *55, 00001 *60/ 100 26,400
-=H 12,500& *4,00004 *60/ 100 30,000
O&dl =8 DSCEXAIE X
80,000,000 *3JH 2~ *50/100 120,000
snos 216,000 168,000 48,000
402 RI2ERt20l ™ 216,000 168,000 48,000
01 RIZEAI2EX 216,000 168,000 48,000
OXBY A SH2 T NAAY
1,200 *300, 00001 *60/ 100 216,000
22X (BX) 3,000 3,000 0
= 3,000
202 044l 3,000 3,000 0
= 3,000
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2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 = LH o4 1l 3,000 3,000 0
OogZF&e HLRFAHYI 20,0003 «3H x50 3,000
= 3,000
NEESUSEUHZEUNA(BEX) 83,500 81,250 2,250
< 25,050
Al 58,450
307 21201 A 83,500 81,250 2,250
< 25,050
Al 58,450
02 2ltF & E R 83,500 81,250 2,250
O =42 AN () XA
5,000& *33,40021 50/ 100 83,500
< 25,050
Al 58,450
ZENMIASHESHUSIAE(BEX) 210,000 150,000 60,000
402 RI2HXt20l ™ 210,000 150,000 60,000
01 RIZEAI2 EX 210,000 150,000 60,000
OEZe =8 D2ZegHeld AIEstiat At
300,000,0002 *14!%70/100 210,000
LNEANBHESHY(EX) 30,000 30,000 0
= 15,000
< 4,500
Al 10,500
402 RIZEX201 A 30,000 30,000 0
= 15,000
< 4,500
Al 10,500
01 RIZEAI 22X 30,000 30,000 0
O0l=ZgXMcld B 22AME
50,000,000& =141 60/ 100 30,000
= 15,000
< 4,500
Al 10,500
RPCHEMEAIER R (BEX) 480,000 240,000 240,000
= 360,000
Al 120,000
402 RIZ2EXR20l A 480,000 240,000 240,000
= 360,000
Al 120,000
01 RIZEAt2E X 480,000 240,000 240,000
ORPCAHZEZMEAIE X &
600,000, 000& *2JH 2~ *40/ 100 480,000
= 360,000
Al 120,000
SAZIHSUERLEAGE(EX) 165,000 0 165,000
< 49,500
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